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� ��������	�
 ����
	���� �	������ �������� �� ������� ����� ��	����� �� ��� ���� ���
�������� ���	����� �	 ��� ��	����	�� 	
 ��� ������ ������� ������� ��������	��� ��� ���������
�	 � ������ 	
 ���� ��� ������ ������� ����� �� ����� � !"# ��� ������� ��	����	� �
����
�� �
����� �	�������� 	
 !$ %��� &������ '����� (������� �%&'(� ��� � )	� *�����	�
+������ (������� �)*+(�# ��� ����� ���� ����������,�� �
 � �	�� -����������� ������ �����
��� �������� ��� ������ ��	��
 �	 ��� ������� ������������ ��������� �������� ���	���
 ≈
0.1mm/sec� ������ ������� ������ γ = 0.39−0.78�� ��� � �
����� ����� ����� ��� ��������
��� ��
� 
��� �	 	��������# ��� ������	� 	
 ��� �
����� ����� ��� ���	�� 1% ��� ������	� 	

��� ������ �����# ��� ���	������ �������� ��� ������������� �� ��� ��	����	� ����� ��� ��� .		�
����������	��# � �������� /����� ������ ��� �����	��� 
	� ��� ���	��� 	
 ��� �	� 
��-����

�	��� �� ��� ���	���# ���������	� 	
 ��� ���������� ������ ��	����� �������� ��������� 	
 ���
.		� ���	������ ��� �������������# ��� ��������� 	
 ��� ��	�	��� ������ ��	������� ����	�
	���� ���� ��� ���������
� �� ��� ������
 �	 ���	��� 
	� �	�����
 �	�����	��� 
	� �������� �������
��� �������� �������������# 0��� ��� ������� 	������� 
�	� ��� ����� ����� ���
	���� ����
��������� ���
 ���� ���� �� ��� ������/����	� 	
 ��� �	�������� ��	����	� �
���� ��� ���
.�1���� �������������� ������� �� ��� ����� 	
 ���������# ��� ������/����	� ��� ���
	���� ��
��� ���� �	���� ����� ��� 2	�������� �����1 ��������	� 3�	����	� +������
� � ��	�������
���	����� 
	� ��4����� �	� ������ ����5��	1 	�����,���	�# ��� ������/����	� 	
 ��� ��	����	�
�
���� ��	����� ��� ���� 	
 ��� ����� ��	�5� ��� ��������� ��	������� ���� �� ��� ����������
������������	� 	
 ��� ������ �������� ��� ��� ������� �	�4����� 	
 
�����	� 
	� ��� 2	��	��
�	��� ���� �� ��� �	������� 	
 ��� �������# ��� 	������� ����������� ��	��� ���� ������
������� ��	������� ���� ��	��� �	 ��� �	�����	����� ������ ���	���	�
 ��	�������� �����
	��
����
��� ���� �
��� ��� �	�� -����������� ����� ��� %&'(� ��� �	� ���� ���� �	 ���	��� �����
�
����� ��	�������# ��� ������/�� ������� �	�4����� 	
 
�����	� ��� �� ������� 1%� ������� �	
�����/���� �����
 ���������	�# ��� ������/�� �������������� ��	������� ���� ��� ����������	�
	
 ��� .		� ������� ��� �	��� 
��-�������� ������� ����	� ��� �	�� ������# ��� ������/��
���� 
	� ��� ��	����	� �
���� ��� ��� �������������� ���� ����� �� � �
������,�� �	��� 	

��� ��	����� ������� ��������� 
	� ��� �
����� ����	��� ��������	� 	
 ��� ���������# �
�	��������� 	�����,���	� ���	����� ��� �����	��� �� �	� 
	� ��� ��������� �	����	� 	
 ���
�	����� �-����	�� 	
 �	��	�# ��� 	������� ��������� ����	��� 	
 ��� ������� ��������
������� ��� �1���������� ����	���� �� ����� 	
 �������������� ���	������ ��� ����������	��#
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 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
��� ��	
 ��	����
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
��� ��	��������
 ������	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
��� ��������
��� ������	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
��� ������	���	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

� �	���� �������	�� ��

��� ��
�����
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
��� ��	����� �

�� �	�� �� ��� ����� ���
������ ���!�	 � � � � � � � � � � � � � ��
��� ����
��� �" 	
��� ��
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � �#
��� ���$ ����� ���	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #�
��� ��	����� �

�� �" 
�� �� �	
� "��� !�%��
��� ��
��� �������� ����� 
�	
 � � #�
��# &	
���
��� �" 
�� ����
�!� 	����	
���
��� ��	���	� ����� 
�	
 � � � � � � � � � '�
��' (� ��� �����		�� "�� 
�� "��� 	�
 �" 
�� �!����%�� "��� !�%��
��� ������	 � � � � )�
��) ������	���	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

� ���
��
��� 	����	����	�� 
��� � !��	������ ���� "#

��� ��!������� *�
��+ ����
�
��� &!���
��� (
��
� 
 ,�*�-&(. � � � � � � � � ��
��� /�%���
��
 ��
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
��� *���� ������
�� ����
����
��� "��� ��%���
��
 ��
� � � � � � � � � � � � � � ��'
��� ����
����
��� �" 
�� �	���
��� 	
	
�� ������
��	 "��� 
�� �� �	
� "��� !�%��-
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��� ,����# �(�
�
��
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�
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�� ����
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
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�����
�� ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
��� ����
�� �
���
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 
�� !���
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�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 
��# $�	����
� �������������� ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � �#
��% &
���������� ������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �%
��' !����
�� �� �
���������� ������� � � � � � � � � � � � � � � � � � � � � � � � � � � �%
���� &
����������� �������� �� �	� ������� �� �	� ������� 
�
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�� ���� �� � �'
���� ()���
������ �����*�
���������� ���"�� � � � � � � � � � � � � � � � � � � � � � � � ��
���� !���
���
��� 
�������� �
����������� �������� ���
�� ����� �+ �+ � ��� � � � � � � ��
���� !���
���
��� 
�������� �
����������� �������� ���
�� �����  +%+' ��� �� � � � � � ��
���� !���
���
��� ���������
��� �������� �� �	� ������� 
�
��
�� ���
�� ����� � ���  � 
���� !���
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��� ���������
��� �������� �� �	� ������� 
�
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��� !���
���
��� ���������
��� �������� �� �	� ������� 
������� ���
�� ����� � ���  �%
���# .���
�� ����
���� ������� �� �	� ���������
�� �
����� �������� �� �	� �������
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��� �� 35.70m ��	� �	� 16.00m ����� 
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312mm 500mm 480mm

25 × 6mm = 150mm 24 × 3mm = 72mm 2 ×
20mm = 40mm S1 = 20 S2 = 3.2

S1 πD2/4

πDt

S1 = D
4t

= 20 D = 480mm t = 6mm

S2 D = 480mm

tr = 150mm S2 =
D
tr
= 3.2
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����� 	
	� ��������� ������������ ��� ��� ������� ��������� �� ��� ������� ��������� �
�����
����� �� ������ 	
 


���� �����	� 
���
� �
���	�� ��� �������	 �����	� �
���	��

�������� �	�
 �� ����
�� �	�
���	� 1000 kN ���
 ���� �������
�
	�

��
���� ����	 �� γ = 1 ξ = 15% � ���� �� ��� 



������ �	���	���� �������� �� γ = 1 Ke = 1000kN/m � ���� �� ��� 



�������� �������� Kv > 800Ke � ��� �� ��� 



�	���	���� 
�������
��� �� γ = 2 dc = 300mm

�
 ��!���� ������� ���������� ���� "��
 ���� 250 �� 2000 kN 
 ����� ��������� �
 ���

������������ �������� "��
 ��� "����� ��� ��� �����#��� μs� ��� ������� ���$����� �� ���������

μd�

• 0.31% < μs < 0.98% ��� 0.24% < μd < 0.50% ��� %& �'()**()** �� "������� �����

"��
��� ���� �� 125− 250kN �
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• 0.10% < μs < 0.30% ��� 0.08% < μd < 0.15% ��� �� 	���������� ��  ������� �����

 ��!��� ���" �� 750− 1500kN #

• 0.09% < μs < 0.24% ��� 0.07% < μd < 0.14% ��� �� ����������� ��  ������� �����

 ��!��� ���" �� 1000− 2000kN 



��� �"���  ����� �� ��� �������� ���$����� ��� ��� �� ��� ����������� �� ��� %&�' ��� ���

 ��! ��( �������  ������! (4mm/min)
 ��� �����! )������� ��������� ����� ��� ���"�� ��"*

)������� ���������� ��� ���$����� �� �������� �������  ����� �� �))��+�"����! 0.3%# ������

�� ����� �� ��"�(��� ������ ��  ��������� ���� ��� �� ����"�� "������ ,�-
 &�� ���������

��������������� �� ��� ./01 ��� ��� 2�
1 ���� ��� ��� ����"�� ��������� �� ��� �������

�������� ��� �� �� �� &���� 	
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�� 
��� ���� �� ��� ������� ���� ��������� ������
 �� ��� �������� ��� ���� ������
 ��!��� "������� #� �"$% �� ���&'( ���� ��� ������ �������� ��� )�!� 	( � ��� * +��
���&���� ,������ "������� #+�,"$


��� ���� ���	
����
�

� ��� �� ��� ������� �����( ���� !�������� �� ��� ������� �������� �� -��&� �.	* (20/03−
22/03/13)
  ����� ��� ����� ��� �������� ��� ���!��&�� �����&���� ���� ��� ������� !������� ���

���� �� ��� ���� �� ��&������
 )�� ������� ����� ���� !�������� �� ��� ��!������� �� ������

���� �� ������ ����� �&&�� �� ��� ��������% ��� ��!���� ���!��&������ ������ ���� 5.8 cm

�� 11.7 cm #γ = 0.40 − 0.80$
 �� ����� � ��� ���� / ����� ��� �� ������� �� ��� ��������(

��������� ����� ����� ����� ��� �� &��������� ������
 )�� ������� �������� &�� �� ���� ��

������ 	
�


)�� ������� �!!������ &�������� �� ��� ������� ����&�( ��� ����������� �0��!���� ���

��� ���� �&0�������� ������
 )�� ������� ����&� &�������� �� � ���&���� ����( � ��������& 1�&'(

� ������ ������� ����&� ��� � ���� &��� 2*�3
 )�� ������� ����&� &�� �!!�� � ��4���� ���&�

�� �!!��4������� 200 tons
 )�� ���&� ��� �!!���� ����� ��� ���� ����&���� �� ��� ��������
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�� (�� ��� (��� $�� ����)����� ������������� *��� ����
���

�� +����
� ��������� ����* ��� ���+� ��� ��������� ��+�� ����
	� 
, ��������' ��� ��	
�� 
�-�

$�� ������ ������������ ������ � �.�/01// ��+������ �� ����� ��� 2���� � *�� 
��� 3��
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����� �������� ������ ���� ��������� ���� 	�� ��������� �� ��� ��


��� �����	
���
� ��
����

������� 	
	� ���� ��� ������������ ��� ���������� ������������� �������� �� ��� ��������

������� ������ ���� 	� �� ��� ��������� �������� ����� ����� ������������������	 � ���

������ 	
�  ��
 !��� 	� ��� ����� ��� ����� ���� ��� ������ �����" �����
 #���������� ��

������ 	
	�  �� ����� ��� ��� �������� ��� ������ ���������" ��� ����� 1000sec ∼ 17min

�� ������ �� � ��������� �������� �� 10cm
 �� ���� �� ��� �������� ��� �������� �� �������

�����������$ ��� ���� ��������� �������� ��� ������ ������" ��� ��� �"���� ���� �� � ����

���� � �������� ������������
 !�� ������������ ������������� �������� �� ��� ��� �����

���� �� ��� ������ %��� ���� ��� �������� ��&����� ���������� �������� �� ��� ��������


'������� ����������� �� ��������  �� ����� ��� ��� ���������� ������������� ��� ���" �����

(∼ 2mm) ���� ������� �� ��� ����(����� ���� (∼ 100mm)$ ����� ��� �������� ����������

�� ��� �������� �" ��� �����)��� �)�������� ��� �� ���������� ����������
 *� ��� �� �������

���� ��� ����� �������� �� ��� �������� ��� �� ������������ �)�������� �� ��� ������ �� � �����

�����������" �� ��� ������� ����� ���� ������� �� ��� ������ �� �������" �� ��� ��������� �"����


���� ��� �"����� %��� ���� ���� ����� �� ������ 	
+� �� ��� �� ���� ��� ��� �������� �� ���

���������� �������� ���������� ��� ��� �������� ���� ���������� ���� ��"�����" �� ��� ����
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#$� �����	� ������������ ��� ��
�� ���	�� �
� ����� %��$�� �
��&��� ���� �� �$� ����
������'������ �	���
 �� �$� ������


(�� ��
������


���	
�� �
�� �$�% �$� ������� ��
�� � ������	����� ������������� �	
��� ����	
�� �	
���

�$� ���$� �
�� ���
����� ����� ��
��
��� �� �$� )	�	��� �	������
 *	������ (�� 
���
� �� �����

��� ��� � �$�� %�
� ����� �� ������
 ������� ������������ (u0 = 5.8−6.8cm) %$��� �	������ (��


���
� �� �����  �!�" ��� �� �$�� %�
� ����� �� $��$�
 ������� ������������ (u0 = 10− 11.7cm)


+� �� ����
������ $�% �$� ��	 �	
��� 
������� �������
 �	
���� �� ���� �$� ������� ��
�� ���	���

�� �$� ��
	��	
� �,	��� �$� ������ ���������
 ��
��� ��������� �� �$� $-�
�� ��������� �-����


#$� ������� ,	������
����� �
���$ �� �$� ��	 �	
��� ��	�� �
����� �� �������� �� �$� ���
��	�

�
������ ��
��
 .�%���
 �$�� �������� �� 
��$�
 ���	�� �$� �
������ ��
�� ��	�� �� �� ����� ��

50 kN ��� �� ��
�� �� 200 kN � ��� ���	
�� �
��


���	
�� �
�/ ��� �
�� �$�% �$� ������������� �� ����	
�� �� �$� ��� �� �������
� / ��� "�

��� ���	
� �
0� �	
��� �$� �
�� ���
����� ��
� �� �$� �����
 +� ��� ������ �$� �-���� ���������

���- ��� �	�� �-��� �� ������ ����
� ������ �� 
��� %��$ ���� 
����	�� ������������
 1����	��

���� �����	
����
 �� ��	��	
�� 	� 
�� 	���	�� �� 
�� �����	
����
� ��	����� 	
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�
�	����� ���� 	�� ����� ��� ������ ��� �	��
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δ = ln
ui

ui+1

=
2πζ√
(1− ζ2)

logarithmic decrement $����%

ζapprox =
δ

2π
approximate solution valid for ζ < 20%
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ζexact =
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(4π2 + δ2)
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���� ����� ������

�	��	����� ��� ���� 	������ �	���	���� 	#�	 ������� �� 	#� ���� ������ ����� )#��#����� ������

����� �������������	�� �	���	����* 	#� ������	��� �� ������� ��� ��� ��������� ����� ����
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�� 
�+�� �
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ü(t) = üraw(t+ t1) + 2p2 + 6p3 t+ 12p4 t
2 + 20p5 t

3 ,(�$�-

u̇(t) =

t∫
0

üraw(τ + t1) dτ + p1 + 2p2 t+ 3p3 t
2 + 4p4 t

3 + 5p5 t
4 ,(�$�-

u(t) =

t∫
0

τ̃∫
0

üraw(τ + t1) dτ dτ̃ + p0 + p1 t+ p2 t
2 + p3 t

3 + p4 t
4 + p5 t

5 ,(�$�-

����� üraw(t) 	� ��� �
��������� ���������	�
 ������ t1 	� ��� �	�� ���
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ü(0) = ü(td) = 0, u̇(0) = u̇(td) = 0, u(0) = u0, u(td) = ures  ���!

��� ��� �������� ��� ����� 
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u(0) = u0 ⇒ p0 = u0  ��*�!

u̇(0) = 0 ⇒ p1 = 0  ��*�!

ü(0) = 0 ⇒ p2 = −1

2
üraw(t1)  ��*�!

u(td) = ures ⇒ p0 + p1 td + p2 t
2
d + p3 t

3
d + p4 t

4
d + p5 t

5
d = ures −

∫ td

0

∫ τ̃

0

üraw(τ + t1)dτ dτ̃

 ��*�!

u̇(td) = 0 ⇒ p1 + 2p2 td + 3p3 t
2
d + 4p4 t

3
d + 5p5 t

4
d = −

∫ td

0

üraw(τ + t1)dτ  ��*�!

ü(td) = 0 ⇒ 2p2 + 6p3 td + 12p4 t
2
d + 20p5 t

3
d = −üraw(td + t1)  ��*�!
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⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

1 0 0 0 0 0

0 1 0 0 0 0

0 0 1 0 0 0

1 td t2d t3d t4d t5d

0 1 2 td 3 t2d 4 t3d 5 t4d

0 0 2 6 td 12 t2d 20 t3d

⎤
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∫ td
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∫ τ̃

0
üraw(τ + t1)dτ dτ̃
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üraw(τ + t1)dτ

−üraw(td + t1)

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
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� �� ��� �����
�

�������� ����
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�������	
� �
����� ���������	�� CSA(t) 	� ������	��� �� 	�� ���	��� 
���� CSA(tmax)�

�
� ������� ��� ���	�� 	� ����	����� �� �� 	�	�	��	��� �� �	�� t1� ���� ��� ���� �� ������

�� CSAn(t) ������� ������	��� �	!����� ���� ����� ��� �
� ��" ���� ��� ���	�� 	� �������

�� ��
� ������ �� �	�� t2� ���� ��� ���� �� ������ �� CSAn(t) ������� ����	�	��� ���	�� ���

�
� ��" ���� ��� ���������� ε1, ε2 ��� 
�� ����� 
����	�	��� �� ��� ����� �� ����	���� ��

O(−1) ��� O(−4) ���#���	
�� ��� ������ �� ������ 	��	
	����� ��� �
�� �	����� �� ������

���	���� ���	����� �� ��� �	��� t1 ��� t2�

CSA(t) =

∫ t

0

[a(τ)]2 dτ ������

CSAn(t) =
CSA(t)

CSA(tmax)
=

∫ t

0
[a(τ)]2 dτ∫ tmax

0
[a(τ)]2 dτ

, 0 ≤ CSAn(t) ≤ 1 ������

motion starts at t = t1 when
dCSAn(t)

dt
|t=t1 > ε1, ε1 = O(−1) ���"��

motion stops at t = t2 when
dCSAn(t)

dt
|t=t2 < ε2, ε2 = O(−4) ���"��

�
� ��" ������� ���� ε1 	� ��
���� ������ �� ����	���� ������� ���� ε2� ��	� ��� ��

$���	%�� �� �������� ε1 ��� ε2 ��#������ ��� ���#� �� ��� �������	
� �
����� ���������	��

���
� �� �	��� t1 ��� t2� &��� ��� ���� 
	����	�� ���	�� ������ ����� 	� � ��#	� ������ ��

��� �������	
� �
����� ���������	�� �����	��� ��	�� 	� 	��	���	
� �� ��� ������ �� ����� 

	�#�� �� ��� � ����� ��� ��#	� ������ �� CSA �� CSAn ���������� �� � �	��	%���� ������ ��

���#� �� �	�� t1 (ε1 > 0)� '��	�� ���	�� ��� 	�	�	�� 	�#�� ����� ���������� �� (	���	� ����� �

�����	� ����	� ����� 	� ��� ��#����������� ��� �	��	#���� ����� 	� ��� 	�����	�� � ����� ���

(	���	� ����� ��� ����	� ����� �� ��� 
	����	�� � ���� ��� �	��	#���� � 
��	��� ���#	��

������	��� )�*� ��� �	��	#��	�� �� ��� 	�	�	�� 	�#�� ����� ���(� ��� ��� �� ������ �� ���

�������	
� �
����� ���������	�� ���
�� +����� 
����� ��� ��� �� ���	��� �� �	�� t2� ��� ���#�

�� CSA �� CSAn� 	� ��#����� �� �� ������ ���� (ε2 ∼ 0)�
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�� �������� ������ ���� � 
� ��� ������ ���� ��

��� ������
 �������� ���������� �� !	"#!$���
 %�� ������ �� ����� �� ��� ���� �����&
�

[1013.5, 1019]sec �� �
�����
�� ��� &������ �� ��� ������ �
�� �� ��� ������
 %�� ���� ������

�� ��� 
������
���� ������ �� ���� �� 1145sec ∼ 19min
 ������ 	
���� ����� ��� ����������!
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 !�"!#� $%%&� ��	
 	
� ��������� ���	��'

dCSAn(t)

dt
= diff(CSAn, h) ���(�

�
�
� h = 0.001sec �� 	
� 	��� �	���

�
� �	
��� ��	��� �	�
	� �	 	��� t1 = 1014.088sec �
�� dCSAn(t)/dt )������ �
��	�


	
�� ε1 = 10−1� ��� *���
� ��+���� �
� ��	��� �	��� �	 	��� t2 = 1017.419sec� �
��

dCSAn(t)/dt )������ ������
 	
�� ε2 = 5 · 10−4� ��� *���
� ����)��
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t1 = 1014.088sec ��� t2 = 1017.419sec� ���� �� '��� CSAn(t) 	��'� �� ���/� .�� ������
�
������ �� td = 3.331sec� .�� ����� ��� ��� ����� �� ��� �����	  ��� �� ��� ������ ���
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� ���
  �� ����� ��� ��� ��� ���! ��� �
��� �� dCSAn(t)/dt �� ���
�
�"����# �� ��� ���
� ��� ��� ����� �� ��
��� ������� t1 = 1014.088sec ��� t2 = 1017.419sec

����������#
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��� ������ ���
�� !��� dCSAn(t)/dt ������� �
����
 ���� ε1 = 10−1�
!���� ��� ������ ����� !��� dCSAn(t)/dt ������� ������
 ���� ε2 = 5 · 10−4
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�	�� %��
 �����&

�
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� ���� �� ��� ���� ����
��� [1014, 1030]sec
 ' ��
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�� ��� �	�	��� �	������ �	
��� ���� �
 �� ���
������� �
�	�� ���
  ������! ν(t)" ���������
�� ��� �����
�� �� ��� 
�# �
�	�� ���
 ������
����� $����% �����
 � ��
����� ���� �� &���� ��
��� ���� ����
 �� [1020, 1030]sec
 '�� ���� �� �(������ 	���� ��� ���
� ���� t1 = 1014.088sec
$νlinear(t)�
�� �����
 �� )������� ���#��� ���  ������! �	
 ��" ν(t) ��� νlinear(t) �� ��� ����
����
 �� [1017.5, 1030]sec" � ��	���� �� dν = |ν(t)−νlinear(t)|/max(ν(t))" #��
� max(ν(t)) =
0.156m/sec �� ��� ���%  ��	� �� ��� 	��
�������  ������!
 '�� ������ �� �������
�� �� �����
�� ���� t2 = 1018sec" #��� ��� �������� dν ������� ������
 ���� � ��
������" �*	�� �� 2·10−3
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���� �� �(������ �� ��� ���� ����
 �� [1014, 1020]sec
 '�� ������ �� ���	��� �� �� � �������

#��� ���  ������! �
��� ν(t) ��������� �
�� ��� �����
 �
��� νlinear(t) �! �  �
! ����� *	�����!"

εν 
 '�� �������� ���#��� ��� �#� �	
 �� �� � ��	���� �� dν = |ν(t) − νlinear(t)|/max(ν(t))"

#��
� max(ν(t)) �� ��� ���% 	��
�������  ������! �� ��� ��������� ���� �
��� �� ������
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����
 ���� t2 = 1017.419sec" ����
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� 	���� ��� CSAn(t) ����
��
 '��� �	��	� �� �������
��

��
� �����
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���� 	�� ���� ����	 �� �
��	���
 ��

���� ��
 �
�	�����	 �
��� ������	������ ��� ������� ��� ��� ��
 � �� !	 	��� t = 0sec 	��

�������
��	�� �� ��� ��
 ��
 �	��	� ���
�
��� 	��  ��"��
��
 �
��� ����
�	��#� �$��	�� �	����

!	 	��� t ∼ 252sec 	�� ������� 
����� �	��	� �
���� �	�	������ 	��  ���
���� ��� �	�	��

�
	�
� ��%������ 	��  ��"��
��
 �
���& 	�� �
��� �� 	�� ��	����� [252, 1014]sec� ��	�
���

�	��� 
� � ���� ����� �����	�
�� �� �������
 ��
 ��� ���� ��������	�
� ���"��� !	 	���

t ∼ 1014sec 	�� ���	�� �� �������
 ��
 �	��	� �� ��	���� !	 	��� t ∼ 1018sec 	��  ���
���

�	
�� �� ��	��� ��
 	�� ���
�
 ��	���� 	
 	�� ����� 
�  ��"��
��
 �
���� ��� ��������	 �
���

�� 	�� ��	����� [0, 252]sec �� ���� ������� 	
 	�� �
�	�����	 �
���� ��	����� [1018, 1144]sec�

��� ���� ��
 �
�	�����	 �
��� �� ������	���'�
  � ����� �����	�
� (< 10mg) ��
  �
�
 ��
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��� �
����� !����	�
� )���	�� �
� 	��  ��"��
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 �
���� ��� ��
�� �� ��� ���� �
� 	��

������	�
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� 	�� �!) 
� ���� ��
 �
�	� ����	 �
���� 	�
 ������� 
� ���
�
� ��� �
���
���
 ��

	�� ��	������ [40, 140]sec ��
 [1040, 1140]sec ������	������ ��� 	�
 �!) ��� ���
�	 �
��	����

�� 	�� ���(����� ����� [0.25, 250]Hz� )
�� 
�$������� ����� �� 	�� �
� ���(����� �����

[0, 0.25]Hz� ����� 	�� �
� ���(����� �
��
���	� 
� 	�� �
�	�����	 �
��� ���� 	
  � �
��

�
������ 	��� 	�� �
� ���(����� �
��
���	� 
� 	�� ��������	 �
����

��� �$��	 
� �
� ���(����� �
��� �� �
�� ���	���� 	��� 	�� �$��	 
� 	�� ���� ���(�����

�
��� �� 	�� ������	�
� 
� 	�� ����
��� (���	�	��� 
� ��	����	 ����
��	���� 
����������	��� *���
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��
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	�
�

��������	�
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 ��
��
� ���
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����������	�� ������ ��� ��
�� 	��

� �
��	� ��������	�
� ������ ag(t)� ���
�
�
 �	 	�� ��
��
 %

� 
� 	�� !����	�  ���
��� 
�����

���� �� ��	�
� 	��	 ,� ag(t) �� ��	����	�
 	
 ������	� 	
	�� ���
��	��� νg(t) ��
 
����������	�
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��� ���� �� �� ��� �!��� ����� "����� ����� ��� ������#�����	 ����� �� ��� �����!���
[0, 252]sec "��� ����� ��� [252, 1014.088]sec "��
� ������ �� ���� �!��� ����� "����� ����� ���
������#�����	 ���� "��� ������ �� ��
���� ��#���
�� $#����� �� ��� #�� ��� #��� �!���
����� �� ��� �����!��� [40, 140]sec ��� [1040, 1140]sec% ��� ��� ����� ����� ���#����!��&�

ug(t)� '�� ������� ���#��������% u0 = 10.1cm% �� ����� �� ��� ���#�������� ����� ��������

���� ����	������ �� ����
�� ��� ��� ���#����� ���(	
������ �� ��� �&���� �� t = 0� )����

��� ������������ �� ��	��	���� !���
� ��� ��� �� ��� ������% ��� !������& �� ��	��(�����& ��*��

���� +��� (ν(td) = −1.6cm/sec) ��� ��� �����
�� ���#�������� �� ��	��(�����& ��	��� ����

��� �����!�� ��� "u(td) = 4.7cm �	����� uexperimental
res = 1.7cm�� '�� �������� ����� �� ���

������������ ����� ����� ��� ��� �� �����	 ������% �
� �� ��� #������� �� ��� #��� �!��� �����%

���������� �� � ������ ����� �� ��� !������& ��� � #�������� ����� �� ��� ���#�������� �����



��

0 1 2 3 4 5
−10

0

10

20

v g (t
) [

cm
/s

]

0 1 2 3 4 5
0

5

10

t [sec]

u g (t
) [

cm
]

0 1 2 3 4 5
−0.5

0

0.5
a g (t

) [
g]

v
g
(0)=0

u
g
(0)=10.1cm

v
g
(t

d
 )=−1.6 cm/sec

u
g
(t

d
 ) =4.7 cm

 unprocessed displacement

a
g
(t

d
=3.913sec)=−0.44mg

 raw acceleration at ground floor, test 9

 unprocessed velocity

a
g
(0)=−0.81mg

������ 	
�� �
��������� ����
� ����
� �����
 �����
�� ��� ���� �
 ��� ��� �����������

ag(t) �� �
�������� �� ������� ��� �������� �
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 ���� �

��� ����� �	�� 
��	���
� ���� ��	�
	��� 
� ��� ������� ��
����� �������� ��� 
�� 
� ���

����� ���� �����	 ������� ������������ (u0 = 10.1cm)� ��� �
���������� ������	���
� ����
	���

	��
	��� �� ��� �	
��� �

	 ��� ��� ����	 �

	� ��	��� ���� � ��
��
����� ���� �!�"�#

$��� �!�"�#  ��� �!�"�# %���!�"�# ��� ����	� $�&'# �	� �	
������ ��	��� �
	 ��� 	��

�� 
�

��� �
�� ��	�
� �
��� ����� ��� �������� (����� ������ �	������� �� �����
�  � �

����� ����	
��

 �� 
�� ����
� ���� ��	��
	�

��� �
���������� �	
��� �

	 ������	���
� 	��
	��� ��	��� ���� � �� ��� ������� ��������

��� ��� �
		���
����� ��)����� ������	���
� �	� ��
�� �� �
���	��
� �� ����	�  �* ��'�

��� ��
 ������� �	� �	��������+ 
�� 
� ��� �
� 
� ��� 
���	� ��� ��)����� �	
��� �

	


��
���+ �� ��
�� �� ����	�  �* ��'� ��� �	������� ������������# ug(t) # �� ��
�� ������� ���

�,��	������� 
��# uexp
g (t) �� ����	��  �& - � 
�	+ �

� �������� �� �����
�� ������� ��� ��
�

��� �������� ������� ug(t) ��� uexp
g (t) �� �.��� �
 e2 = 0.06% ��� �� �� ��������� ���
	����

�
 ��� �
��
���� �
	����/

e2 =

N∑
i=1

(
uexp
g (i)− ug(i)

)2
N∑
i=1

(uexp
g (i))2

� �$"'

���	� N �� ��� �����	 
� ��� ��	
�� �
��
� ���� �
�����

��� �
����	+ �
�����
�� �	� ���
 �	

���� �� ����	��  �*� ��� ��)����� ������	���
�

��� 
��
���+ �� ��� ��������� ��� ��� 
� �
��
� �	� 0�	
# (ag(0) = 0, ag(td) = 0, νg(0) =

0, νg(td) = 0)# ����� ��� ������� ��� 	������� ������������� �	� �.��� �
 u0 = 10.1cm ���

ures = 1.7cm 	�������
��+� ��� �	
������� ����
� ����	�� ���� ��� �����	�� 	������� ����

��������� �� 	��

�	��� ��� �
��� 	��

�� �	
� ��� ���� �
��� �� ��	�� 
� ������	���
�#


��
���+ ��� ������������ ��� �� ���� �� ����	��  �1 �
  �$"�
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�� �����
����� �� ���
����
���� �������# ��� �������������� �� ������� ��� ��� ���������� (u0 = 10.1cm, ures =
1.7cm)
 '�� ����
���� ������������ ����� ����� �� �����
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��� �
� �
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� �
�
������� �� ��� ���
� ��� ��� ����� �� ������
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��� �� ��� �
�	�� ���
 �� ��� �	�	��� �	������ �	
���
���� � �arawg � 
�� ����� ��� ��

�� ������ ��!	���� ������
����� �aadjg � ����" �����
 ��� #����

�$�%�� �
�$ ��� 
�� ������
����� ������


�� ��

���	
� �
�� ��� &� 
������� �
�	�� ���
 %������' ��
 ���� � �
∫
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�� ������ ��!	���� %������' �νadj
g � ����" �����
 ��� #���� 
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�$ ��� 	� 
�������

%������' �
���


)�� ����� 
�$�%�� �
�$ ��� ������
����� �� � ����  �
��� ��%���
$ �� %�
' �$��� �$(

 ���	�� (< 1mg)
 *���%�
 ���� ���� ����� �� �����
���� �� 
��	��� �� �����+����� �

����	�
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 ��� "���� 
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��
�$� 	��
������� ������������ �
���
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#�� �
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��� ����' �#��� �����
 *$��� �$� ���!�
�	�� ����� ��� �
�#��� � ����� ��
 �$� ���� �#���

������ �$�� ����� �� ����������� ����� �$� ���� ����
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%���� �
� �
�#���� ����
������ �� �$� ���
� ��� ��� ������ t1 ��� t2� ��� �$� �	
������ td�

�� ������	����� ������
����� 
���
�� �������� �
�� ���� �
 %$� ���
� ����� t1 �
� �#��	����

�
�� �$� ��

��������� �	�	����#� �(	�
�� ������
����� ����
���� �� ����	���� �� �������

�
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 %$� ������ ���
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�#���#� �� CSAn(t) ������� �
����
 �$�� �$�

�������� �$
��$��� ε1� �$�� #�
��� �� �$� ����
#�� 1− 12% ��� �� �$���� ����#��	���+ ��
 �#�
+
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*��� &����� ������ ��� ������ ��� ��������� �$ ����+ &��+���� %�� &����� �
������ �� ���	��
�� ��� 
���� ������

!����*��	 ��� ���� &���� ,�*���� ��������� &���� ����$��� �� ��� ���������� �� ��� ���� �!

�������� �$���&� ����� ��� ��&���	 &����- �� ���#���������� .�� ��������� ��&���	 ���
��� ��

��
����	 �! &����� %�� �������� �! � !��)
���$ ����� ���� ��� ���
��
��� !��)
���$ �� �����

�� ��� �������$ ��� ��������&��� ������ ���*� �� ��	
�� 
���� %�� /��� ��!������ �������$

���� ���&� �� �� ��������� �$ � ���	 ������ *���� %��� ����&�� &��� ����� ���� ��� �������$

�� ����	����� �� ����
�� ��������&����� %*� ������� ��� �� ���� !��& ��� ��������&���
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 Test 9 relative velocities

 0.14 sec  v1fl
abs,adj(t)−vg

abs,adj(t)

 v2fl
abs,adj(t)−vg

abs,adj(t)
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abs,adj(t)−vg
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 Test 9 baseline fitted displacements

 u1fl
abs,adj(t)−ug

abs,adj(t)

 u2fl
abs,adj(t)−ug

abs,adj(t)

 uroof
abs,adj(t)−ug

abs,adj(t)

 1.80 sec

 1.30 sec
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	 �� ��
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�) 	
�����
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 �������
�
�� �"�
	 ����������� �" � ��( ��� .��
	 (���
��	�
	 "	
'�
�� fc = 0.30Hz�� ��"�� ������� ������ ��	������

���� �� ���	 
�����
� �� ��� ���� 
�������

floor acceleration[g] velocity[cm/sec] displacement[cm] td[sec]
first /�%0� %�%10 /�
�� ,/�
��� %����
second /�%�
 ��%01 /��/1 ,/��/�� 0�/1%
third /�0�/ ��/2� /��21 ,/��1%� 0�
%%

����	�� � � ����������� ���� �
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� �� ��


���
	��	����	
�

� �	��
	 ���������� �" ��
 � ��
� 	
�����
 (���� 	
'��	
 ��
 
��������� �" �����
3

���
�� !�
 	
�� ������ �
	����� "	�� ��
 ����������� �" ��
 ���
 ��� ��� ���#����
 ��
�



��

0 1 2 3 4 5

−0.1

−0.05

0

0.05

t [sec]

re
la

tiv
e 

di
sp

l. 
[c

m
]

 t2  t2+0.10 sec  t2+0.50 sec
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��� 
������������ �� ��� ����� �� ������ �������� �� ��� ���� ���� �������� ���������
���� ����� ���� �
  �� ����� ���� �� �������� ������ �� �!��� �� t1 = 0
  ���� ��� ����� ���
����������� t2 = 3.962sec ���� �� ��� ��� ���� �� ��� �"������ ���� ���� ������������ ������#
t2 + 0.1sec = 4.062sec ��� t2 + 0.5sec = 4.462sec
  �� ����� �� ��� ������ �������� �� ���
��������� ������������� "������ �"����� ����� ��� 1sec �� ������


��� �������� ��� ����� �� ����
 
� ����# ��� �������� ���� ������������� ���� ����� �����

��$���� ����� �� ��� ���� �������% ��&���� ���' ����� (��� �� �������� �����# ��� ������

	
�) *"+
 ,������� ��� �"������ �������� �������� ����� �� "� �������"�� ��� -������� "'

��� �����' �� ��� ����������' ������ �'�����# ������� �������� ����� ��� ��� �����"����' �� ���

�"������ ��������# ���������' �������� �������������
 ,� �� ��� "��� ��������� "�����# ��&

��������� ������� ��� ��������"�� ��� ��& ������ �� ����� ������
 .�������# ��& ���!����'

����� �� �������� &��� �����������
 ��� ���� ������# ��� ���� ��� ������� ���������� �� ���

�������� ������������� �� ������������


������ 	
�� ���&� ��� ����� �� ���� �������� �� ��� �������� ������������ �� ��� ����

����# &���� &�� ��������� �� ��� ��������� "��&��� �"������ ���� ���� ��� ������ ����

�������������
 /���� ������� �� ��� ���� �������� �� ��� �������� ������ ���� ������� ���

���� �� ��� ����� �� ��� ��������� ������������� ����� 1sec �� ������
 ������ 	
�� *"+

���&� ��� �������������� ������������� ����� ����������� �� � ��& ��� �����# &��� ������
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 Test 9 baseline fitted displacements

 u
1fl
abs,adj(t)−u
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 baseline fitted + low cut filtered (f
c
=0.3 Hz)  rel. displ.
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� �
��� ������������� �� ��� ����� �� ��� �	� ����
��� �� ��� 
������� �������� ���� ��
��� !	�	��� �	��
��
	��	
� �	
��� ���� "
 #�� $������� �������� ���� ����	���� �
� ���
��%	���� �����	�� 
������� 	���� &'
 �
��
 #�� $������� �������� ���� �� �	�(���� #�� ����

����������� �� � ��� �	� ����

 )�� ��
��
 �
�'	���* �� ������ �'	�� �� fc = 0.30Hz


�
�'	���* �� fc = 0.30Hz
 )�� ����
��� ��� ��
��
 �� �� +!),!- 	���� � ������� ����


���� �����(�	
����� � �	��� 
������� #��$� .//0
 fc = 0.30Hz �� � 
��������� ������ ��


��� ��
��
 �
�'	���* ����� �� �� ������� ���	�� �
� ��� ������ �
�'	���* �� ����
���1 ��
 ���

!	�	��� �������� �	������ ��� �	��� ����� �
�'	���* �� �
����
 ���� 0.50Hz(1.95sec)
 )��

�	��� ����� �
�'	���* ��� �� 
��� �
� ��� �!2 �� ��� ������
����� 
���
�� #��� 3�����
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������� ��� �  �
� �� ����
 ����� �� 
��� ���� ��� 
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����������* �� ��� �*��� � 
��������� �� ����
 �����
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��� ��	��� �����
���� �� ��� ������ ��
�	� ��� ��
* ��� ��  ����� .5"0
 )�� 
������

�� ��� ����
��  ����� ���	
� ����	�� �� ��� ������ �� ��� ������ �
� � ��� 6�
� �� � 6�
�

���	� �� �� � td
 )�� ��������� �� ��� ��� ���������� ��	��� �* ����
��� �� ��%	���� �* 
�(

������ ��� �������� ���� ����
���� �� ��� �������� ���� � �
������ ��
���
 )�� �
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��� �� 
�� ����
��� ���� ��������
���� ��� ���� �����
���

��
 �	 ����
 ������� ��������
��� ������ ����������	 ������ ��� 
���� �������� �
��
 ���
��� 
���� t1 ��� t2 �� 
�� ���� ����
� ������
�� ��������� 
� 
�� ��������� ������
�� ��
���
��� �	�	 ����
� ������� ����
��� �� �
���� ��
���� td = t2 − t1	 ��� ����
��� ��
���
����
��� �� ������
�� ��������� � �� 
�� ����� �� 
�� !

�� ������
� ��������� �� ����� "�
���
����#�
�	 ���
� ��� ��$
� �������� 
��������� ε1 ��� εv ���� ��� 
�� ����
�!��
��� �� 
����
t1 ��� t2	

component t1[sec] t2[sec] td = t2 − t1[sec] ε1[%] εv[%]
!��
 ���� %&%
	&'( %&%'	%)& 
	&�� *�	���+ � &	�&
������ ���� %&%
	&'( %&%'	%(& 
	&'� *
	&'�+ � %	�&
���� %&%
	&'( %&%'	�%& 
	%�� *
	%��+ � &	�&

�����
 �������� 
��
 
�� �����������
� �� ������ �	%( *�+ ��� ���� �������� 
��� 
�� ��������,

���
� �� ������ �	%( *�+	 -�"����� 
�� ���# ����
��� �������� �
 
�� 
��� ��
����� [0, 1]sec�

"���� 
�� ��
��� �� �
��� ����
���� �
����� �� ��
 ��������� � !�
����� �� 
�� ��
����
���

��
�����. ���� ��� 
��
 
�� ���# ����
��� �������� ��� �� ��������� "�
� ���!�����	

����� �����	��
� 
� �
� ���	���� �������������� ����
��� ��
� �
�

��
������� 
� �
� �	� ���	���� �
��
�

/� 
�� �������� ��������� 
�� ����
��� ������
���
��� �������� "�� ������
�� �������
� �

���� 
�� ��0��
�� ������
� ��������� ���� ��� 12	 �	%%	 -����� 
�� ����
��� �������� ��

������
�� �����
� � ���� 
�� �������� !

��� �� 
�� ��" ����
��� �������	 ����� �	
 ��������

�������
��� �� 
�� �
��
 ��� ��� 
����� t1 ��� t2� ��� 
�� ����
���� td� �� 
�� ����
���

��������
��� ������� ��� 
��
 �	 ��� �
��
 
���� t1 ��� ��
���
�� ���� 
�� �������������

������
��� �2����� ��������
��� ��������� ��� ���
��� �	�	 ��� ��
��� �
��
� "��� 
�� 
���

������
��� �� CSAn(t) ������� ����
�� 
��� 
�� �����
�� 
�������� ε1� 
��
 �� �2��� 
� 2%

��� ��� 
�� ������� ����������	 ��� ��� 
���� t2 ��� ��!��� �� 
�� ����� �� 
�� �����������

����
��� ������
���	 ��� ��" ������� ��� ��
����
�� 
� ������� 
�� ����������� ������
��� ���

�
�����
 ����� ��� !

�� �� 
�� ��
����� [1020, 1030]� "���� 
�� ������
��� ���" � ����� ������
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�

�����
������� ������ �������� ����� �
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�
 ��
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��� εν � 	
� �
�
�� �����
 ��� εν ���� ���� 0.20− 1.20%�
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t1 = 1014.087sec �� ���  ���
� t1 = 1014.087sec �
 �
� ���� �
�� �
� ��
� 
����
 ������� 
��
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�� �
� �������� ������ ��
���
 ���������� �� �
� 
��� ���� �� ���  ���


��� �� ���������� �� �
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�� ���������� t1� 	
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 ��

t2 = 1018.15sec �� �
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 � ��
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� �������� ������ �
 ����� �� �
� �����
 ������ �� 	���� ���� %�

�
� 
��� ������ ��� ���
�� �������
� �
� �������� �� �
� �������� ������ �
 ��������� ����

�
� ��
����� ������
� �
 ��������� 	
� ��� ���
��
 ������� ���� 
������ ������ ��������


td� &�� ��
��� ������ �� ��������� ���� �
� ��
�� 
����� �
 
��� �� �
� �������
 ��������

�

�
��� �
 � ��� �� 
��'�������� �� �
� 
�������� �� �
� �
��

���
 ��� �
� ������������� �� �
�

��� ����
 �� 
����� ������� (������ �
� �
��

���
 ��� �
� �
�������� �� �
� ��� ����
 ����


������� 
���� �����
 �� ���

��� ���
�������� �
������
 �� t2�

	
� ��'�
��� �������� ������������
 ��� ���������
 ��� �
� $���
�� 
����
�������� ���



��� �� )�����
 ��!*� ���� ����
 ��� ���
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 ��
���������� )�����
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 ��� ���������
 ��� ���������� �
��
���� ��� ����������� 	
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�����

#���� �������� ��
���
� +��

�� ����
, �
 ������� �����
�� ���
 �
� �������� ��
���
� ���������

���� �
� #���� ��
����� ��
���
� +���������
 ����
,� 	
� ��'�
��� �������� ��
���������
 ���



��� �� )�����
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�� �
� ��� ���
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 ���� �� �
� 
��� ��������

��
���������
 �� �
� ��������� �� ������ (0, 1)sec. 
������ ����� 1sec �� ������ �
�� �������
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second $�%�) �$�%�)� 	�%�( �	�%&'� &�$'% �&�$'%�
third $�&�$ �$�&�$� (��'� �(�$�	� &�)�% �&�)%%�

0 1 2 3 4
−0.5

0

0.5

t [sec]
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0 1 2 3 4
−8
−4

0
4
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0 1 2 3 4
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0.5
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0
4
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m
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 2nd floor

0 1 2 3 4
−0.5

0

0.5
 Test 9 relative accel. (baseline fitted)

 roof

0 1 2 3 4
−8
−4

0
4
8

 Test 9  relative vel. (baseline fitted)

 roof
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� �� ���0����� 
������������ ��� 
���0
���� 
������� !�� ����� �� 1�
� �� ��� �� ����� ��� ��� �� ������- ����� ��� ����
��
����
�
!�� �2������ �� 
������ �� ��� �����
 
�� � ����
 ���� � ����� �2�������� (u0 = 10.11cm)�
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0 1 2 3 4
−0.35
−0.2

0

0.2

t [sec]
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re
la

tiv
e 

di
sp

l. 
[c

m
]

 2nd floor

0 1 2 3 4
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0

0.2  2nd floor

0 1 2 3 4
−0.35
−0.2

0

0.2
 Test 9 relative displ. (baseline fitted)
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0 1 2 3 4
−0.35

−0.2
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0.2
 baseline fitted+LC filtered (f

c
=0.3Hz)

 roof

#�!��� �	&�� )������� *��� ������������ ��������� ��� ��� +�!���� ���� ��������� ���� �, ��
��������� ���� ��� ��-����� �������� �������� ����������� ����
 ������ ��� ��� ��-�����
�������� �������� ������� ��� ������. ���� ���/�����	 ��� �������� ������������� "���  ���� ��
0��� �� ��� ��!�����! ��� ��� �� ������, ����� ��� �������������� "�� �1������ �� ������� ��
��� ������ ���!� ����� ���� � ����� �1�������� (u0 = 10.11cm)	 ��� ��!�� ���/����� ���������
��� ���� ������������� ����� �������������� �� � ��!� ����  ���� "��� ������ ���2�����
fc = 0.30Hz	
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 ������
 
���	���
 �� ���� ����

&�� ��	����	���
 ����� ������ �� ��������� 	� ��	�� �
 ���� ��	��
#�� '����� �����
# �%�

��	��
#� ������ �� �(����� �� 	������	� 	#��
# )�� �	�� �
��� 70oC*� &�� ��	����	���
 �����

�
�����+

�� ����������
 ����� ��� ��� �$	��	���
 �� ��� $�����	� ���,
��� Kv ���%��
 30% 	
� 100%

�� ��� ����#
 $�����	� ��	��

�� �����
�� ����������
 	
� ���	� ����� )������ ��
�����	� ��	��
#* ��� ��� �$	��	���


�� ��� ��	��� ���	� ������� G� G �� �$	��	��� ���� ��� ����� ����� �	�	 	� �����%�
#+

G = τ(at 0.58te)−τ(at 0.27te)
(0.58te−0.27te)

- %���� τ �� ��� ���	� ������ 	
� te ��� ���	� ������ ����.
����
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�����	� ��	��
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	/
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	��� ���	� ������� Gdin 	
� ����$	��
� �	���
# �	��� ξ 	� ������
��

0.50Hz� Gdin �� �$	��	��� ���� ��� ����� ����� �	�	 	� �����%�+ Gdin = τ
γ
= F/A

d/te
%����

F �� ��� ����0�
�	� ��	� 	���
# �
 ��� ��	��
#- A �� ��� 	��	 �� ��� ��	��
# 	
� d = te

��� �	(���� �����	����
�� Gdin ������ ��� �
 ��� �	
#� 0.35− 1.40MPa�

"� �����
�� ����������
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�����	� ��	��
#* ��� ��� �������
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�� ��� G− γ ���	���
 	� ���	� ���	�
 	��������� γ = 0.05− 0.3− 0.5− 0.7− 1.0− 2�


� ����� ������

1� 2���0�
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� �	�	���� ������
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� �� ��� ��	������ �� ��� ���	� �����������

5� 6��	� ��
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 γ ≥ 2.5�
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���� 
��� ���	��� ��� 
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	����

��  �� 	�������� ������ ���� 100mm ��� ��	��� ��������� 	� 6mm�

!� ��� ����	� ����	��� ��	����� ������ �� ��������� ������� 30% ��� 100% �� ��� ����	���

�����
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$� ��� �����	������ �� ��� ������������ �����	�� ������ �� �������� �� ��� ��
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������

����� ���� ��� ��� ����	����	�� ����� ��� ���
�	�� ��� ����� ������
���	�� �� ��� %&'

���	�� �	�
����
��� d2 ��� ��� ����	� γ�

 ��� ������
��	� ����	��� ���� 	� ��� (������ ��	��	�� ���� ������ ��� ��� �������	�� ��

��� ����	��� ��	����� ��� ��� ����	� ��� ����
	� ������� ���������	��	��� ��� ������ �� ���

����	��� ��	����� ����	��� ���� (1167, 1316, 1566, 1299)kN/mm# �	��	������� �	���� ���� ���

����	��� ����� Kv > 800Ke = 800 · 1.05 = 840kN/mm� ��� ����	��� ���� ���)����� 	�

��
�	��� ��

����	�� ��� ����� ����� 	� ���
��� *������ ����� ����+# ���  	���� !�!� ���

����	� ����� ���� 
�����
�� �� � 
��, ����� ����	� γ = 1� ��� ����	� �����������	� ����� ���

��� ���� ���
�� �� 	�������� 	� ����� 	�  	���� !�" *�+� ��� ������� ����	� ����� 
������

�� ��� ���
�� �� 	�������� ������ ��� ��������� ���
 ��� ��	�� ����� ���� �� �����	��� �����

��� �������� ����� �� -�"./0�� ��	� ����� ������
���� �� ��� ������� ����� 
������1 ���


����������� ���� ���������� ��� ������ ����� 
������ �� γ = 1# ��	� ��� ����� �� 0.65MPa�

��� ������� ����� 
������ ��� ��� ������ ���
�� �� 	�������� ������ ��� 0.51MPa# ��	�� ���

������ ����� 
������ ��� 0.69MPa� ��� ����	��� ���� ���� ���)����� �� ����	� ����	�� ��

� ��������� �� 0.5Hz ��� ��� �������	�� �� ��� ����
	� ����� 
������ Gdin �� γ = 1�  ��




d = 150mm(γ = 1)
f = 0.50Hz

Ke = 1.0kN/mm γ = 1 Wd = 21, 097J

Gdin = 0.77MPa

ξe = 14.8%

Ke = 1.05kN/mm, Wd = 22, 588J, Gdin = 0.81MPa, ξe = 15%



d2 = 300mm

Vmin, V Vmax V

Vmin, Vmax V

Vmin, V Vmax

±30%

d = 1.2d2

d = 1.2d2

20%
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� ���
��

� �	��	���� ����� 	� ������� ��� ��� ���
�	��	�� �� ��� ��� 
����	���	�� �����	���! ��	�

����� 	� ���� 
������
 	� ������
� ��� ���	����	�� ���
�	
� ��� ��� ���
�	��	�� �� ��� ����

�	����	�
 �� ��� ������ ����	��� "#$� ����� ���������� ��� ������ ��� ��� ����	�	�� �� ���

�	��	���� �����% ��� �����	
 ��	&���� k0' ��� ����������	
 ��	&���� k1 ��� ��� 
����
���	��	


�������� Q' (	���� )��*�+� (�� ��� ���
�	��	�� �� ��� ,(- ��� .������ ��	
�	�� ����� 	�


���	�����' )��*�+� �������� ����� ��� ����� �
��� �� ,(- ������� 	� ��� � /- �� �������'

���
 ��� ��� ���	���� ��� �	���	
	�
 ��� ���� 
��0
	��� �� ��	
�	��� ���
� ���
 ��� ���������

������ ��� ��	
�	�� �����' ��� 
��0
	��� �� ��	
�	�� μ = Ff0/N ' ����� Ff0 	� ��� ��	
�	��

���
� ��� N 	� ��� �1	�� ���� �
�	�� �� ��� ��	
�	�� ����	����

��� ��
���	
�� �2�	������� ��� ��� �	��	���� ��� ��� .������ ��	
�	�� ����� ��� ����

����� 	� (	����� )��� ��� �	��	���� �
���� 	� ����������� �
 ��� �����	
 ���	���' 
����
���	3��

�
 ��	&������ ke = k0 ��� kh = k0k1/(k0 − k1)' ��� � �����	
 ��	��� 
����
���	3�� �
 ���


	���	�� ���
� Fy = Q+ k1uy *����� uy 	� ��� 
	��� �	����
�����+� ���	�� ��� �����	
 ������

��� ���	�� ke 	� ������	��' ��	�� ��� ���	�� kh ���
� ��	�� (|Fp| < Fy = Q+ k1uy)� �� ���� ��

|Fp| = Fy ��� �
���� ������ ��� 
	���	��4 �����	
4 ����������	
 �����! ���	�� ��� �����	
 �����

���� ���	��� ������ ��� ��� ������� ��	&���� �� ��� �
���� 	� ���	�� �2���� k1� ��� .������

��	
�	�� ����� 
�� �� 	���������� �� � �����	
 ��	���� 5�	�� |Ff | < Ff0 ��� ������� ����	��

���
6�� *���� �����+! �� ���� �� |Ff | = Ff0 ��� ������� ������ ���	�� *��	�	�� �����+� ���

��	
�	�� ���
� 	� ��� .������ ����� 	� � ���
�	�� �� ��� ��	
�	�� 
��0
	��� ��� ��� �	�� ��
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��������� �� ��� � !" ��� ��� ��#"


��� ������� �������$
 %�� ����� �� ����� �� ��� ���������� �� �������� �������� ���&����'

����� (���� �� ��������� ���$ (��� ��� �������� ����� �� ��� ������� ����� �� ������) �� ����

��� ����� �������$ ��� �������� ����� ������ ��� ���� ������
 *�������� �� +����������� ��

��
 ��� ����,����� ���������� ��� ���$ ����� (��� ����� �� � ������� ��������� �� ��� ��������

����� -./
 0��� ��������� ������ ������ �� ���� ��� ��� ������ ��������� �� ��� ����,�����

������) ���� �� ��� #������, ����� -.�/
 ��� ��� ������� �� ���� ���� �� ��� � ��������

�����) ����� ��� �������� �������� �������� ��� ��� �1������ �� ���������� ����������$ �� �����$

�����������
 %�� VM ��� �������� ������ �������� �$ �23 2���������� ��� ����������4��

�$ ��( ������� ���&������ �� �������� ��� ��� ���� ��������$ �� ���������� �������� ��� ���

������� �� �������� �����


%�� ��������� ����� ��������� �� ��� ������ �������� �� ����� �� 56� 	
7
�� ��� 
�� (����

��� ��������� ����� ��������� �� ��� �������� ������� �� ����� �� 56
 	
7 
��


Fe(u, u̇) = k0[u− ui − uysign(u̇)] + k1[ui + uysign(u̇)] 
HDRB : elastic branch) 
	
7��

Fe(u, u̇) = k0uysign(u̇) + k1[u− uysign(u̇)] 
HDRB : plastic branch) 
	
7��

Ff (sign(u̇)) = Ff0sign(u̇) = (μN)sign(u̇) 
LFSB) 
	
7��
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����� uy = Q/(k0 − k1) �� ��� 	��
���
 ����
������� ��� ui �� ��� ������
 ����
������� ��

��� ��
�����
 �� ���� �
����� �������

����� ��� ���� 	�
��	�
��	��

��� ������������� �� ��� ���������� �� ��� ���� �� ��� ����� �� ��� 
�� ����� �������� �	 ���

������������ �� ��������� ����
 ��� �� !"#� ��� �	���� ��������� ������ �� �� ���������

���
���� ��� ���������� $k0, k1, Q) �� ��� ��!
����� ����
 ���������
 ��� ������ ������
�� %��

���� ��� �� ��������� ��
������ ��� �����!����
������� ����� �� �������� ��������
 �� ���

������������ 
��� �� ��� ��� ���������� ����
 (Fe − u)sim& ��� %�
��� '�($�)& ��� ��������

�� ��� �*���������
 ����� (Fe−u)exp� ��� ������ �������� �� �� ������+�� �� ������ ��
��,

f = [(A− Ae)/Ae]2 +
[
(Ixx − Ie

xx
)/Ie

xx

]2
+
[
(Iyy − Ie

yy
)/Ie

yy

]2
+
[
(Ixy − Ie

xy
)/Ie

xy

]2
$'�-)

����� Ae, Iexx, I
e
yy, I

e
xy ��� ��� ���� ��� ������ ������� �� ���� �� ��� �*���������
 ��������


�����!����
������� ����� (Fe−u)exp& ��� A, Ixx, Iyy, Ixy ��� ��� ������������
 .��������� ����

��� ����
 (Fe − u)sim�

��� ��/������ �� �� ��� � ��!
����� ����
 ���� ���������� �.��
 ����
��� ���� ��� ������
�

��� ������� ��
�� �������� �	 ".������ '�- �������� �� ������
 ��� �� ���������� ��� ����

����� ��� ��������� ���������
 ���������� �� ���  �
���� ����� ����� ������ ��� �	�����

���������� ��� 
���� �� ���
� '�0� ��� ������������� ����
�� ���� ���� ��� ���������� ��

��� ���� ����� ������ ���������� ��� ��
�������
	 
���� ���� ��� ������������
 ����������

����� �	����� ���������� $65% ��� k0& 17% ��� k1 ��� 28% ��� Q)�

��� ��������� ��!
����� ����
� ��� ����� �
����� ��� �*���������
 %!� ������ �� %�
����

'�1 ��� '��� %��� ����������� �� ��� �
���� �� ������� �
��� ���� ���
� ��� �������������

�� ��� ���
��� ���2���� k1 ��� ��� �������������� �����
�� Q �� .���� �����
�� �������& ���

������������� �� ��� �
����� ���2���� k0 �� ��� ��� 3� ������ ��������& k0 �� ��
����� �	 �����
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����� �	�
 ���
������ ���������� �� �
� ������ �������� ��������� ���� �
� �
��� ����� ������
������������ ������ �������� ���� ������ ��� ������� ��� ����� ��������� �� γ = 1	 �
�
������������� ������� ��� ������ ����� �
� �� �!"	 �
� �� �!" ��� ��� �� ����� ��
���
 ������������� �������	 �
� ������� �������� �� �
��� 
�����	 #���� ���
 ��� ���� ��	
"����� ���
 ������ �� ������������� ���� �
�� �
� �������� ��� �������� ���� �
� �����
������ �� ������������� ���� ���������	 �
��� ���
 ��������� ������� ���$���� k0	 #����

���
 ��������� ������������ ���$���� k1	 #���
 ���
 ��������� �
������������ �������
 Q	 #���

���
 ������ �������� ����� %�����& ������������� �� �
� ������� ��������	

"����� ���� � "����� ���� ' (������ ���� � (������ ���� '
%)*��& %+*��& %+*��& %+*��&

k0 (kN/m) �,�+ �,'� ,-�� .�++
k1 (kN/m) .,/ )�/ /�' /-)
Q (kN) ') '/ �) -�
error 1.7E − 06 1.3E − 06 3.4E − 06 3.2E − 06

������� ����	
�
�� �
 ��
 ������� ���	����

�
� ������� �� ����� �	� �
�� �
�� �
� ������� �������� �� ��� ���0��1 ��� ��� �������������

���� ���� �� �
� ���� ��������	 �
�� ���� ������� �
�� �
� �� �!" �������� � ����� ���
��

�
�� � ������ ������� �� �
� ��2������ ��������	 3�����4 �� ���� ���� ������������ �
� �����


��� �
� ������ ������� �� ��� ��������	 ����� �	' �
��� �
� ��������� ���
������ ����������

�� �
� ������ �������� �������� ���� �
� ��� ������������� ���� �� �
� F − u ���� ���������

���� �
� ���� ������ ��� ����	 5��� �4'4� ������� �� ����������� ��������� ������ ���
 ��������

���$���� ���*�� �
������������ �������
 ��� ��� �
������� �����������	 6������ �
��� �������

�
�� �
�� ���� �� ���
������ ������ ��� �� ����� ������� ��� �
� ��2������ ��������	 #�����

�	�� �
��� �
� ���������� ������� �
� �7���������� ��� ��������� ������ F−u ����� ��������

�� �
� ���� ��� �� 6(58 ������	 8��
 �
� ���
������ ��� �
������ �������4 �������� �� �
�

������������� ���� �4� ��� -��� ������������ %��� ����� �	'&4 ������� F −u ������ �
�� ����


�������������� �
� �7���������� �����	
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 �	
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����
�����
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����� "�� kN� ��� ��� ������� ��� ������������ ���%���� "�� kN/mm� �
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��� ������������ ��� ��������� ������� ������������������ �
� �� ��� �!� �"� ����
�� ������	� ������# �
������� $�� ��� $��� %!� ������������ �
� �� ��� �!�"� �� ��� "!���
�!� ��������� �������� �
� �� ��� �!�"� �� ����&� %!�  ��
�� �� �!� ��������� �!������������
�����	�! $�� kN� ��� �!� ������� ��� ������������ ���'���� $�� kN/mm� ��� ���� �!�"��



γ = 1

k0 k1
Q

k0 (kN/m)
k1 (kN/m)
Q (kN)
error 1.7E − 06 1.7E − 06 1.7E − 06

F − u
γ = 1



ab(t)

(∼ 2min)

(λ > 10)
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�����	 
���
 ��	 �������� ���	�
 ��� ������� ������������� ��� �	 ���	� ������������ ������
	����!��"	 ������� ��� ��� �	�� ������������ � �	� ��	 	����!��"	 ������ �	��	��

��	������� �	� ���	� �	� ��� (∼ 250)� ��	 #������ ���	  �� � �����	 ��	���������� ��� �	�����

	$�	���%	�� ����� &�  ���� ��	���������� ���	���� �� '(&) �������	��*	� �� � ����	� �	� � 

����	���	� ���#	� ���� ��	 #������ ���	� �	� ��� ����� �	���� � ��	 ���	� � � #��"��� #		"

+,-.� ��	�	 ���	� ��	 ��	���� �����	�����	 #�	�	 �����	� ������	� �	�����	� ��	 �%������	�

��	 �	�������� ���	� ������	�	�  �� ��	 ��	���������� � ��	 /������ '(&) �� ���#�

�� �����	 
���� ��	 ��0���	�� ������ ��� ��	 %������ ����	� �������  �� ��	 '12(� #���	

��	 ������� ����	� ��������  ��  ������� �� ��	 3�)(� /�� '12(� ��	 � ��	 ����� ��� �	��	

��	 	$�	��	� �� ��%	 ��	 ���	 ����	���	�� ��	 ���	 ��	4��	�� �  ������� �� ������	� �� ���

��	 3�)(�� ��	�	 ��	� ��	 ����	� �����	�	� %	���� �� �	 ��	����	� �������� ��
 ��	 ���� � 

��	 5�����6 ��������	 (m)� ��	 ����	���	� � ��	 ��0���	�� ������ (k0, k1, Q)� ��	 ��	4��	�� � 

 ������� � ��	 ����	�� (μ) ��� ��	 ������� ����� �	����%	 �� ���	�� %������ ����	� (ζ)� ��	

	!������ � ������  �� ��	 ��	 �	��		 �  �		��� ���	� ���#� �� �����	 
��� ��


müb + c u̇b + Fe(ub, u̇b) + Ff (sign(u̇b)) = p(t) �
�
�

7!� 
�
 ���#� ��# ��	 	$�	���� ���� p(t) �� ������	� �� ��	 ��	����  ���	 ������ �� ��	

���� m� ��	 �	�������  ���	 �� ��	 ���	�� %������ ����	�� ��	 �	�������  ���	 �� ��	 ��0���	��

������ Fe ��� ��	  �������  ���	 �� ��	 ����	� Ff � &� ��	 ���	 �  �		 %�������� p(t) = 0� ��	

	$��	������  �� Fe ��� Ff ��%	 �		� ���	��� ���%��	� �� 7!� 
��� ��	 �	�������  ���	 ��

��	 ��0���	�� ������ Fe ��"	� ��8	�	��  ���� ��������� �� #�	��	� ��	 ����	� 	$�	��	��	� ��

	������ ����	 � ������ �� � ������� ��	� ��	 ������� �	�����	 � � ������ ���	 ���������

����	� �� ���� ��%	��	� �� ����	���%	 ����	� � 	������ ��� ��	����� �	��%����� 	��� ����	
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ub(t) = uc(t) + ucp + up(t) (#�$)

!���� ub(t) 	� ��� �	��
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Fe(ub = ur, u̇b = 0) + Ff (u̇b = 0) = 0, !���� |Ff (u̇b = 0)| ≤ Ff0 (#�0)

!���� ur 	� ��� ���	���
 �	��
�������� 1	�� #��2 (�)�

����� ����	

 ���
���� ��� ��	 ��	����
����� �� ��	 ����
��

�
������� 
�
�	�

��� ���	�	3��	�� ���

�� ��� ��� 	����	.���	�� �� ��� %������ *+�, 	� �����
���� �� ���

�	�	�	3��	�� �� ��� ��

�!	�� �����	���
/

f =
3FL∑

i=GFL

(ui
exp − ub)

T (ui
exp − ub)(

ui
exp

)
T
(
ui
exp

) +
3FL∑

i=GFL

(u̇i
exp − u̇b)

T (u̇i
exp − u̇b)(

u̇i
exp

)
T
(
u̇i
exp

) (#��)



���

����� ui
exp, u̇

i
exp �	 
�� ������
��
�� ���� �����
��� ��	���
� ��	�����
��
�������
� �
 
��

i− th ���� ��� ub, u̇b �	 
�� �����	������� 	�
���
�� ��	���	� ��� 
�� 
���� 	���� �� ������

�����  �� ������
��
�� ��	�����
��
	 ��� ������
��	 �
 ��� ����	 ��� 
�!�� ��
� ������


�� 
�� ��"��
��� �� 
�� "
��		 ����
���# 	���� 
�� ����
�"�� ����� 
���� 	����� ������� �

��	���	� 
��
 
�
���	 
�� ������� �������� ��	���	��  �� ����� 	����	
���
��� ��	���	� ��	

	�
���
�� ��� ���� �������
� 	���
��� S = [m, k0, k1, Q, μ, ζ] �	��� 
�� �����
���� ������
�


��	������ ������ ������  �� $%&'() ��	 ��� �� 
�
�	 �� ���� 	�
 �� ���� �����
��� ��
�

����������  �� ������
��� 	�*� λ ��	 ������� �� ���� ��	
��
 �� 
�� ������
�
�  �� ��
������

$%&'() 	
��
��� ����
�
��	 +
���
�
 ��
��� �� �
���
���	 ��� 
��������# 	�� 	��
��� ���,

���� 	�
 
� 
���� ������
 �����# ����� �	 ��	� 
�� ��
�
�� ��� ��������� 
� 
�� ���������	

-./0�  �� ����
�"��
��� ��	 ������
�� �� � ������� 	����� 	���� 
� ����� 
�� ���������� ��

���'���	���� 	���
���	�

����� ����	
��� �
�� ������ ��� �
�����
��

 �� ����
 123) ����
�"�� ���
 
�� ����
 ���� �����
��� 
�	
	 ��� 	���� ��  ���� ��� 
���
���

��
� 
�� 	
��
 ����
 ��� 
�� 	����� 	���� ���	�������  �� 
�		 ����
�"�� �	 
�� 
�
�� 
�		

�� 
�� �������� �
 
�	
 �����
���	�  �� 1452 ������
��	 ��
����� ����� 
� � 	����� ������� '

��� ������ �������	 ���� �		�
�� 
� ���� 
�� 	�
� ������
��	�  �� ����
�"�� ���6����
 ��

����
��� μ 	����� �� 
��
������ �� 
�� ���
���� ���� N ��
��� �� 
�� ����
��� ������	 
� �������


�� 
�
�� ����
��� ����� Ff0 = μN ��������� �� 
�� ����
��� ���
��
	 ������ 	������� N ��	

�	
�
�
�� 
� �� �7��� 
� 13, 900kN ����� 
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��� ��
����
 ������ -������. ������	�
��

 ��

���� ���
����� -�	�����. �������
 �
� ��� 
����� �� ����� ��� �������
 ��� ��	������ ���

��
��� ��
����
 ������ ���� ��������� �������

 �� /%� ��+� 0��� ����� ���������� �
 ��� ����

�����
�� ���� ��� ���
��������
 ��� 	������� �
 ��� ���� ���� �� ����� ��� ������ 	
������

��
��
��� ��� ��������
 �� 
����
��� �� 
�� ����
���� ����� ������
��	��

��	��
�
��� �� ����� ��� 	���	 ����

• ��� 
�	
	 ��
� ���� ����
���� 	����		����� ������ 
� ��
���� 	���
���	 ��
� 
��� 	����

�����	 (< 10%)� ��� 
�����
� �� 
�� ����� 	 �	 �����	
��
�� �� 
�� ���
 
��
 �������!

���
 ���	 �� 
�� "#�!$% ��
� ������	�� ������
��� 	�&� ���� ����	
 �����	 
� 
��

	��� 	���
���� 	�� ��	
 ������ �� ����� ����

• ��� ��
���� 	���
��� �	 ��
 ���'��� �����	������ 
� � ����� ��
��� 
��� �  �����

������� �� 
�� ��
��	� �������� (��	�� �� )*+, 	
�
�	 
��
 -
�� ��.��
�
� �� 	������� 

��� �  ����� ��
���� �	 ���
��� ���	���� ��� ����
��
 �� ����
���/� ��� �����
�����
� ��


�� ��
���� 	���
��� �	 � ���	��� �� 
�� ���������
� �� 
�� ��
��
�



���

����� 	
	� �
������
 ������� ���� ���� ��� ���� ��������� 
��� �� ����� ��	� �!�"�#�� ��

��
 $���� ��%� �
������
 ���� ��&����&�� '��'������ ��
 ����� &�����'��
��� �� ��� �'(
����� ��������
 ��� ������ �� ����� ��� �������� %�� ��'����
 ���� ��� ����� ������ ��
�
�����&����� ���� '�������
 �� ����� %����� ���&)���
 ��&��
 ��%� ����� '���� �� ��� �
��(
���&����� ���
 ����
 ��
 ������ ��%�� ��%�� ��
 �''�� ����
� '����
�
 ��� ��� ����
�

����&�
 $���� �� �%����� ��%� �
������
 �*���� '�������� ��&��� ��� ����� � �� ��
 ��� �����
��� ������+�
 �� ����� �� ��&������� ������ ��'����
�
 ���������� �� �������� ��%� ��������
����
��
 
�������� ��
 &��,&���� �� ��������� �� ��� �
������
 '��'������


m(tons) k0(kN/m) k1(kN/m) Q(kN) μ(%) ζ(%) �����
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! �
! �
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.. � �
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����� ���������� ��� ���� ! ��� ���
����
��� ��	���
�

�
 ���
� �� �����������
� ���	
��� �
� ���%���
� �� �������
 ���
 ����� �������� ��

����� &�' �
� �� ����� ���� �� ��
���� �
���� �
���� ������ ������ �
 ��� �������� ��

��� �����
�� �������
� (
 ����� ����� # �
� ! �������� ��� �
���������� ������� �����

) �
� *� ��� ��� �
���
�� +����� #��#� ����� �� �����
�� ���� ��� ��������� ��� 
��

����
����� ����� ��� ������ �������� ������ ��������� �� ��� ����
�
��� ���� ��� ��������

��������
�
� ��� ���� ! ��� �� ��� ����� �� 12mm� ��� ������� ���� 
�� ��������� ��

�����
� ��� �������� ��������
�
��, �
 ���� ��� �������� ��������
�
� �������� �
 ����� #

�
� ! ��� ������ �
��� ��
����� �� ��� �
�� ����
�
��� ��� ����� �� ��
���� �
��������

��� +������ ���) �
� ���#�

0 2 4 6 8 10 12
0

500

1000

1500

2000

d [cm]

F 
[k

N
]

test 7 (no release)
test 8 (test 7 repeated)

+����� #��#- +���� ��������
�
� ������ ��� ����� * �
� !� ����� ��� 
� ������� �
��� ����
*� ��� ���� ��� �������� ������������ ����������  ���� !"� .������ ��� ������
� ��� 
�
�����
����� ������ ��� ���� ��� ���������
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���� γ = 1! �� � ��
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! ��
�� k1 
� � �
���
� ��
�� ��� �� �������� ��
�
�����
��
�� %��
�
����� !

k0 ��	��� ��� ��
����� ����
 ��� ����
��� ����� �� �����
��
 " ��� 
�
�
�� ��
�����

���� ��� ���

�� 
� 	
�� ������ ��� ��� ������
�� ��
����� ����
 � �
���������� ���&

��� ���� 
������ ����

• k1 ��

�� �
�� � ��#
��� �� 700kN/m ��
 ���� � (γ = 0.39) �� � �
�
��� ��

600KN/mm ��
 ����� �!�' ��� � (γ = 0.67− 0.78)� �

• ��� ���
����

��
� ��
����� Q ��

�� �
�� 28.8KN ��
 ���� � (γ = 0.39) �� 44.0kN ��


���� � (γ = 0.78)�

• (����

)
��! k0 ��� k1 ���� � ���
���
�� �
��� �
�� 
��
���
�� ��
�
� ����
����
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 �
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���
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� � �
���
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 �� *+,-! ��� .
��
� /��0� ��� � ���
��
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��
��� � 

��� *+,- �
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����
�����! ��
�� ��� ������ ��� ������� ��
������� ������ �����
 �� ��� 
����
	��

���� ������� 	
 ���� � ��	
��� �
�� ������ 
����� 
	� k1� �	��
�� 
	� ��� ����	�� �����	��� ��	
�� �����

������� ��� �����������
������ 	����
���	�� ��� �	� 
���� �	��
�� 
	� γ > 2.5− 3 ����� ��� ������ ��	�� ��������� ����
�	�
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• ��� 
	���
��	 ��
��
�� ��� �
���� !��" ���� 0.77− 1.33% ��	 ��� �
��
�����
" �
����

���� ����� ����#

���	 ���� ��� ������������ �� ��� #��
� �� ���������� ������ ��� �
��

��� ���� $���!�� ����� ��� ����� ��
��� �� #� ��
��	% &
' ��� ��
��
�� ������	
��
�������

���!�� ���!
	�	 #" ��� ������������ ���������	 �� 
�# ����
�� ��������	 �� !��" 
��

!�
��
�
�� &v = 4mm/min < 0.1mm/sec 
��� ����
� ���	
�
���'� ��

� ��� !�
��
�
��

�(���
����	 	��
�� ��� �(���
����� ���� �
��
�����
" �
���� &∼ 150mm/sec'� )�!���


������ �(���
�����
 ���	
�� ��!� 	����������	 ��� 	����	���� �� ��� �

	
�� ��� �

�
��� �� ��
��
�� �� ��� !�
��
�" ���

��	�� �
� ������������ �������� ��������� 
�#�
�

���
�� ��	 ���#�� �� �"�
�� *�� ��+� ,�
�� �� �
� ��������	 ���� ���� �-- ����� ��

���
�#�
����	 ��	 
�#�
����	 ����
�.��/ 
���������� ���
� �(���
�����
 ��	
��� �� 
��

#�
����	 ����
�.��/ 
���������� ���!
	�	 μ = 1−2.5% ��� �

	
�� !�
��
�
�� �� ��� ��	��

�� 150mm/sec ��	 �������� p = 9.38− 21MPa&�
���� �- 
� *��+'� ���" �
�� �#���!�	

���� ��� 	����	���� �� μ �� !�
��
�" 
� ���

�� 
� 
�#�
����	 
��������� ���� 
� ��� ����

�� ���
�#�
����	 
���������� &

' ��� ������������ �� ���
� ��
��
!� ���	��� �
�� ������

���� ��� ��
��
�� �
������ 01 ��� ���������
 �
������ ���������
2�	 �� 
�� 	
��
���
��

�����
�"� �
�� �

	
�� ��� �
��� �� ��
��
�� �� ��� ��	�� �� 1%� �� &


' ��� 
	���
����
��

�� ������� #�

	
�� 
��
���	 �� ��� #��� #" ����� �� � �
�

�� $34) ���� ���� !
#���
��

����� &)�
��
�� #�

	
��' "
�
	�	 �
�

�� !�
��� ��� ��� ��
��
�� ��� �
����� �� ��� ��	��

�� 1% *��+�

�������������	�	
��
��	����	��	
�������������������
������	
�����
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����� �����	� 
��
������ �� ��	 �
	����	
 ����

��� ����	�
�� ��
� ����� ������	��� ��� �� ���� ��� 	�� ������	��� �� 	�� ����	��� �	������

��� ������� keff , Teff � 	�� ������� T0, T1 ����	��� 	� 	�� ����	�� ��� �������� ������ 	�� ����

 ������� feff , f0, f1� 	�� ����� �����������	 Dy� 	�� ������ �������	�� ��� ����� �� 	�� ������

��� ������� �������� WRB
D ��� W SB

D ��� 	�� � �������	 ������� ��	��� ζeq� ��� �!���������

"#$#(k0, k1, Q) ����� 	� 	�� ������ ������ �������% ��� 	�� ������	��� �� 	�� �����	��� ���	��

�������� ��������� ������� ��	��� ��� �& �'(�� ���� �� 	�� )����	� �����	��� ���	�� ������

�� ����������#

Dy =
Q

k0 − k1
, keff =

Q

D
+ k1, *"#$�+

Teff = 2π

√√√√√ m
16∑
i=1

keff

, T0 = 2π

√√√√√ m
16∑
i=1

k0

, T1 = 2π

√√√√√ m
16∑
i=1

k1

, *"#$�+

feff =
1

Teff

, f0 =
1

T0

, f1 =
1

T1

, *"#$�+

W SB
D =

16∑
i=1

4Q(D −Dy), W
SB
D = 4μND, *"#$�+

ζRB
eq =

WRB
D

16∑
i=1

2πkeffD2

, ζSBeq =
W SB

D

16∑
i=1

2πkeffD2

, *"#$�+

ζeq = ζRB
eq + ζSBeq *"#$�+

��� ������	��� ��	���	�� ���� , � "#$ ��� ���-� �� ����� "#�# ��� �����	� �� 	�� 	����

���- ��-.

• ��� ��	��� k0/k1 	��� 	� �� �����	����� ����� ������� ��	-��� � ������� �� 3.3 *	��	 &�

γ = 0.78+ 	� � ��!���� �� 4.7 *	��	 �� γ = 0.39+# ��� ����	�
��	��� �� 	�� �	�	�� ���

������� ��� ����� �������� ��	��� k0/k1 	��	 ��� �����
���	�� ������ (5 − 7)# /����

��� 0���� �� 1�2 ������� ��	��� k0/k1 ��� 	������ �'(� � ��� 	� " ��� &# 
� 	�� ����	 ��

	�� ���	 ����	�� �	������ k0 ����	�
�� �� 	�� )����	� 	��	�� �	 -�� ������� ��������� ��-



���

����� �	
� ��
����
�� ���������� ��������� ���� ��� ��������� ����� ���������� �� ���

������� �� !	 "���� ��#� ���� ������	 !�
��� ��#� ������ ���������	 ����� ��#� ������
�$

���� ���������	 "����� ��#� %���� ������
�����	 "���� ��#� &�����
 �� ����$������
 ���'����

�����	 !�(�� ��#� �'�
���� �������� �� ��� �� !	 !������ �� ����� ��#� ������
) �'�
����

��� ����$������
 �������	 ����� �� �#����� ��#�� ������
) �'�
���� ��� ����$������
 ���*���$


���	 ���������� ��� ���������� ��#�� �����% ���������� ��� 
%
�� �% ��� ������ ��� ���
����

����
��	 "�������� �� ����������� ��#�� �*�������� ������� ������ ��� ��� ������) ���
����

�������� ��� ��� ������� �� !	 &��������� ��#� ����� �� ��� �*�������� ������� ������ �� γ
��� �� γ = 1	 +��������� ��#� ����� �� ��� �'�
���� ���'���� �� γ ��� �� γ = 1	 ��� �������

�� ����� � ��� , ��� ���� ���������) ��#���� ���% ��� �������% ����������) ��� ��� �������

��������� �����	

���� � ���� � ���� � ���� �� ���� � ���� 	 ���� 
 ���� �

γ = D/te -	�. -	
� -	
� -	/0 -	/0 -	/. -	0� -	0,

D �	, /	, /	, �- �-	� �-	� �-	. ��	0 (cm)
Dy �	� �	� �	� 1	/ 1	0 1	0 1	, -	-�-� (cm)
k0/k1 
	0 �	� 
	- �	� �	� 1	. �	
 �	
 (kN/m)
keff ��.0 �1/1 ��
, ..� .., �-
- �--- .0/ (kN/m)
T0 �	�- �	
� �	

 �	/0 �	/0 �	

 �	/, �	0- (sec)
Teff 1	�
 1	�� 1	1� 1	

 1	

 1	�0 1	
� 1	� (sec)
T1 1	,- 1	/1 1	,0 �	�
 �	�
 1	,0 �	-. �	�
 (sec)
f0 -	00 -	0- -	0- -	/- -	/- -	�. -	/- -	�. (Hz)
feff -	
0 -	
0 -	
� -	
� -	
� -	
1 -	
� -	
� (Hz)
f1 -	�/ -	�, -	�� -	�1 -	�1 -	�� -	�1 -	�1 (Hz)
WRB

D ,/	1 ..	- �-/	� �,0	
 �.�	0 �0-	� 1��	, 1
�	
 (kN ·m)
W SB

D 1
	0 �/	1 ��	
 /
	� /�	/ 0
	0 0
	/ ,/	0 (kN ·m)
ζRB
eq 1�	� �/	. �.	. �,	0 �,	0 ��	
 �,	� �,	� (%)
ζSBeq /	� /	1 �	. /	
 /	1 /	0 /	1 /	� (%)
ζ totaleq 10	
 1�	- 1�	, 1�	� 1
	. 11	� 1
	� 1
	/ (%)

ζeq(γ)/ζeq(γ = 1) �	�/ -	.� �	�� �	�� �	�
 -	,� �	�
 �	��

keff (γ)/keff (γ = 1) �	�, -	,- �	�- �	-� �	-� -	/� �	- �	-

��� ������
 ���'���� �� ��� � �������% #��� � 
���� ��%��
�� ��������������) ��� ���������

��# k0 ��� 
����*�����% ��� ����� k0/k1 ��� ��� ���% �� *������%	

• ��� �'�
���� ���'���� keff ������ ���� 900kN/m �� 1197kN/m) ��� ����� �� ��
�����

#��� ��
������� ������
����� ���������	 ���� �������� �� �%��
�� �� �23�	 ��� ���$

������ �%���� ������ ������� ��� ��
�����% �������% �� ������� ������
������ ��� ��$

�������� ����� ���*�����% �

������ ����� ��
� �� #��� ��� ����� �����*��4��) ���
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�������� �	� 
�����
�� ���������� �� �����
� �	� ��

�������
 �� �
��	��
�� ������ ��

�	� ��������� 
���� 
 ����
�
 ����� ����

• �	� �������� ������ Teff �� �	�  !"# ���� �
 �	� �

$� 2.14− 2.5sec 

�% 
� ��������%

��
�� �� �� ��
$�� �
��� ����
$�� �����
� �	� �������� ������ �� �	� ������ �� ����

�	

 �	� ������ ���
���� �� �	� ��
���� �	
���% T0% 

� ��
���� �	

 �	� ������ ���
����

�� �	� ������
$ �	
���% T1� &�
�����
��� f1 ≤ feff ≤ f0�

• �	� 
�
'��
�
� ����
���
 ������ �� 
�� �	
�
�����(�� �� 
 ��
$�� ������
��) ��� ��'��
�
�

���
��(
���
 �	�*� 	�* �	� ������ �����
�� �� ��
������� �� k0 �
 �	� ��
���� �	
���



� �� k1 �
 �	� ������
$ �	
���� �	� ��
� ������ �� �	� ������ *��� �� ����*	��� �


���*��
 (T0, T1)� "
 �
��% �	� ��
�
��
�
� ������ �� �	� ����
���
 ������% 
� ��
� ����

�	� �����
����
� ��
$�
�� +�
��� ��,% ������
 ��-. 
�� *��	�
 �	� �

$� (T0, T1) 

�

��
� �� �� ������ �� �	� ��*�� ����� T0� �	� ���
��/�
���
 �� �
�� �
� ������
$ ��

�	



� �	��� ��
���� ��

�	�� �
 �	� �������� ������ �����
�� �� ���� 0 ��$	� ����
�
 *	�

T0 ����

��� �	� ������ �����
��% ��� 1�$��� -�,�+
.�

• �	� �
��$� ������
��� ��� ����� �� �����
% WD �
���
��� *��	 �
���
��
$ 
��������%

*	��� �	� �����
��
� �
���
$ �
���� 
�� �����
��
$� �	�� ������ �� 
��� ��
/���� �
 �	�

�����
���� ���� �	� �
��$� ������
��� �� �	� ������ ��
��
$�% WRB
D % �� �
 
���
$� �	���

����� $��
��� �	

 �	� �
��$� ������
��� �
 �	� 21#!�% WRB
D � "� �	���� �� 	�$	��$	���

	�*����% �	
� �	� �
�
 ��
��������
 �� �	� ������� �	���� �� �	
� �� ��������
$ 


��$
�/�

� �
�� �� �	� *��$	� �� �	� �������������� 

� 
�� ������
��
$ �
��$�� 3���


�	� ���
��/�� ������
$ �
�� m = 2, 400tons% �	� *��$	� �
����� �� �	� 21#! �������

���
� �� N/W = 13, 900/(2, 400 ∗ 9.807) ∼ 60% �� �	� ���
� *��$	� �� �	� ������
$�

• 4 ����� �����
� �	���� �� �
������ 	����
 �
 �	� ����
��
�� �� �	� �����
��
� �
��'
�
$ �
��� ζeq �
 �	� �
��� �� �	� ��
���� 

� ����'��
���� ����
����� α = k0/k1� 5���� 

�

6
��� �
 ��� ������ �	
� ζeq 

� �������� ��� �
����� �
���% ����
�� �������� �
 �	�

�
��� �� �	� ��
���� 

� ����'��
���� ����
����� α = k0/k1% ��� 7�� -���

ζeq =
2α

π

y − 1

(y + a)y
, where y =

D

Dy

≥ 1, a =
Q

k1Dy

=
k0
k1

− 1 +-��
.
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���	
� �
��� ��������� ζeq(γ)/ζeq(γ = 1) ��� keff (γ)/keff (γ = 1) 
����� ��
 ��� ����
	��� �� ��� �	�	��� ������  
�� !������" �	�#!$���  �� ���  ��
 �� �$	� %�$�	
" ��!�%�$
ζeq(γ)/ζeq(γ = 1) # γ ��� keff (γ)/keff (γ = 1) # γ %	
&�� ��
 ��� ���� !
��	%�� �� ��'" ��
��	�� �� ��� ���	��%�	
�
(� %���$��	�


ζmax =
2α

π
[2(1 + α)

1
2 + (2 + α)]−1, at y = 1 + (1 + α)

1
2  �
)��

�� ��%� ��� 
��	$�� �� ��� ���$� ���* ���� ��� ���$$�
 ��� k0/k1 
����" ��� ���$$�
 ���

�+	�&�$��� ���!��� 
����


• ,�� $��� �*� 
�*� �� ,��$� �
- !
�&��� ��� 
����� �� ��� ��������� �+	�&�$��� ���!���


���� ��� �.�%��&� ���.���� �� ��
��� ��!$��	�� γ *��� 
��!�%� �� ����
 %�

��!������

&�$	� �� γ = 1
 ζeq(γ = 1) = 18.1% ��� keff (γ = 1) = 1590kN/m" ��� �
� �&�$	����

�
�� ��� �/�
�!�$����� �� ��� %�

��!������ ��������� ���� �� γ = 1
 ���	
�� �
�� ���*

��� ��������� keff (γ)/keff (γ = 1) − γ, ζeq(γ)/ζeq(γ = 1) − γ 
�$������ �� %��!�
����
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&� !
�!���� �� ��'" *��$� ���

��������� 
����� keff (γ)/keff (γ = 1) �
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��!������ %	
&� ��

��'" ����%����� ���� ��� ��������� ������ �� �����

 ,�� ��.�
��%� ���*��� �	�������
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����� �� ��/��	� 13%
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	 ���� ������ ��� ����� ��� �������� ����� ��  ��� ��������

mü−
b + Fe + Ff0signu̇

−
b = 0 and m ü+

b + Fe − Ff0signü
−
b = 0 $	
�%

&���� ��� ������������ "���� �#���� �

|Δüb| = 2Ff0/m $	
�'%

��� ���� � ��� ������������ "��� ������� �� ��� ������������ ����� 	
(' )���� �� 0.013g


*��� ��� ������ ����� �� � ���� ��� ��������� ����� �� ��� ������ �������� Fe(ur, 0) =

−16 ∗ 2.5 = −40kN �� �#���������� �� ��� ����� ��������� �� ��� �������� ������� Ff (ub =

ur, u̇b = 0)+ )��� |Ff (u̇b = 0)| < Ff0 = μN = 157kN 
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����� ����������	� dub �	� �	��
����� �	 �
� ���� ��	
� (0, t)� ��� ��� �����

∫
mübdub +

∫
c u̇bdub +

∫
Fedub +

∫
Ffdub =

∫
pdub �������

t∫
0

mübu̇bdτ +

t∫
0

c u̇bu̇bdτ +

t∫
0

Feu̇bdτ +

t∫
0

Ff u̇bdτ =

t∫
0

pu̇bdτ �������
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 ��� �� �	��
�����	 �� ����� �
� ��	���� ����������� ���� ��	 �� ���!�����	

��"

EK(t) + ES(t) + EV D(t) + EHDRB(t) + ELFSB(t) = ES(0) + EIt �������

where �������

EK(t) =
1

2
mu̇2

b(t) �������

ES(t) =
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2

F 2
e (ub, u̇b)

k0
+

1
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F 2
h (ub, u̇b)

kh
�������

EV D(t) =

t∫
0

c u̇b(τ)
2dτ �������

ERB
D (t) = WRB

D (t) + ES(0)− ES(t) �������

W SB
D (t) =
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Fe(ub, u̇b)u̇b(τ)dτ �����
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���&���� ke, kh ���� �� ��� �������������� �" ��� �'(�� ��� ������ ��)*�+� ,��� ��"��������

�� ��� ��������� �" ES(t), E
RB
D (t), ESB

D (t) ��� ��� ��������� "����� Fe, Fh ���  � "���� �� -./�

)01�

������ ��		 ���2� ��� ������
 �" ��� 3������� ������ �����
 ��� ��� �����
 ���������� �� ���

���� ������ ��� ������� ���� 4� 5�� ���� ���2� ��2 ��� �����
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 �� ��� �
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*ES(0)+� �� �����"����� �� 3������ *EK(t)+ ��� ������ �����
 *ES(t)+ ��� �����
 ����������

 
 ��� ��  �� ��� "�������  ������� * ERB
D (t), ESB

D (t)+� ����� ��� ������� ������� � ������

"��� ��� ������������� �" ���� 4 2�� %���� EV D(t) = 0� 5�� ��  ��  ������� ������� ��6��

������ ����� �� �����
 ����������� ������� ����� ���!������  �������� ��� ������ ��	7*�+�
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 ����������� �� ��� �'(�� �� "��� ������� ������

��� ���������� �� �������� ����� �� ��� �����
 ����� 5�� "�������  ������� ��� ���� ��������

�� �����
 ����������� ������� ����� ���!������  �������� ��� ������ ��	7* +� �������� 8���

2��� ���������  
 � ����� ���9����� �" "������� μ ≈ 1%� ��������� ����������� �� ��� �������
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 test 9, input motion

ab(t) = üb(t)

üb(t) üb(t)

q = 1.5
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 �� ��
��
 ��� 
�� ��
�	� ������
���
��� ����� 
	��� 
�� �������
� �����

Mss üs +Css u̇s +Kss us = −Ms ι üb(t) ������

Mss =

⎡
⎢⎢⎢⎣

m1

m2

m3

⎤
⎥⎥⎥⎦ , Css =

⎡
⎢⎢⎢⎣

c11 c12 c13

c12 c22 c23

c13 c23 c33

⎤
⎥⎥⎥⎦ , Kss =

⎡
⎢⎢⎢⎣

k11 k12 k13

k12 k22 k23

k13 k23 k33

⎤
⎥⎥⎥⎦ ������

����� uT
s = [u1, u2, u3]

T 	�� 
�� ���	
��� ��
��
���
	� �����	����

� �� 
�� ������
���
���

����	
��� ��
� ������
 
� 
��  	��! ��� "����� ���#�	�� Mss,Css,Kss 	�� 
�� �	��! �	���
�

	
� �
�$
��� �	
����� �� 
�� ������
���
��� 	
� ιT = [1, 1, 1]T �� 
�� �
%��
�� ���
��� Mss

�� 	 ��	��
	� �	
��&! ��
� 
�� ������ %��� �	���� mi (i = 1, 2, 3) 	� ��	��
	� �

����! �����

Css 	
� Kss 	�� ���� �	
�����! ��� '�� �����

'�� ���� �������

� 	 ������� �(�
�� �� ����
� ����� ��$���

�	� ���	
��
� �
 ����� 
��

�
����
��

 �	��	 �� �� 
�� 
��� t 	
� 
�� ����
��

 �	��	 ��� 	�� 
�� ����)�

	� �����	��*

��

� us� +� 
�� �	���
� �� ��	����	�! ���� �� 
�� ����� 	�� ��
����
	� ��
� ������
 
� 
��

�(�
��,� �	���
� �	
��& ��
��� 
�	
 ��
����
	� ��
� ������
 
� 
�� �	�� 	
� �
�$
��� �	*


��&�! 
�� ���	
��
� �� ��
��
 �	
  � 
�	
������� 
� 	
 �
������� ��
 �� ���	� ���	
��
�!

'�� ���#�	�! -�.� '	�� ���	� ���	
��
 �� ������ ��� 
�� ���	� ������
	
� qn(t) 	���(�
� 	
(

�
��
 	
	�(
��	� �� 
������	� ��
��� 
� ��
����
� 
�� ���	� ��

�� �
��
� 
� 
�� �����
��

us,n(t) = φn qn(t)� ��� ���	� �����
��� us,n(t) 	�� 
��
 ��� �
�� 
� � 
	�
 
�� 
�
	�

�����
�� us(t)! '� ���#� ��

q̈n(t) + 2 ζn ωn q̇n(t) + ω2
n qn(t) = −Γn üb(t) (n = 1, 2, 3) ����#	�

us(t) =
3∑

n=1

φn qn(t) ����# �

����� φn �� 
�� n−th ���� �� 
�� �
�	���� �(�
�� 	
� ωn, ζn 
�� ��������
��
� ���	�

������
�( 	
� �	���
� �	
���
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����� ����	
 ��
�
	�	
 �	���
 ��
 ��	 ���	�
 ���	
��
����
	 
��	�

��� ���	 
��
� ���� ��� ����
 ���������� ����
��� ��� ��� �����
��
�� �� ��� ��������������

�������� ��� ��� ��

��
�� ���

• � ����
 ����
�
���
�� ������� Γ1, Γ2, Γ3�

• � ����
 ���
��� T1, T2, T3�

• � ����
 ����
�� ���
�� ζ1, ζ2, ζ3�

• � ���� ���� ���������� φ11, φ21, φ31�

• � ������ ���� ���������� φ12, φ22, φ32�

• � ��
�� ���� ���������� φ13, φ23, φ33�

���� �� ��� ������
�
 ����
 ���������� ����
��� ��� ��� �
��
��
�� �� ��� ������ ��������

��� !� ������� �� ��� ��

��
�� ���

• � "��� ������ m1, m2, m3�

• � ����
 ���
��� T1, T2, T3�

• � ����
 ����
�� ���
�� ζ1, ζ2, ζ3�

• � ���� ���� ���������� φ11, φ21, φ31�

#� ��� ������� ������ ���������  �����$ ��� ����
 ����
�
���
�� ������� �� � !��� ��%

�
���� !� ��� "��� ������$ ��
�� ����
��

� ��� ���� ����
����
 ��� ���

� �����
��!
� ��

&
 �� ��� ���� �
���
!��
�� ��� ��� ���� ������ ��� ����
 ����
�
���
�� ������� ��� !�

� �
����� ���� ��� ��

��
�� �'�����
���

Γn =
Ln

Mn

=
φT

nMsι

φT
nMsφn

(���)*

+�� ������� ������ ���������  ����� 
��
���� ��
� ��� ���� ���� ����� φT
1 = [φ11, φ21, φ31]

T �

�'�
��
�� ��� ��� �
���� ����� φT
2 = [φ12, φ22, φ32]

T ��� φT
3 = [φ13, φ23, φ33]

T � #� ����$

��� ����������� 	
�������
 
� Γn 	�� �� �
��� �� �����Γn �� ������
 �������� �
 �� � �
��� �����	�����
�
��	�
�� ����
��� ���� �� �� � ������� 
� ��� ������ �
 ���	� ��� n − th �
�� �����	������ �� ��� ����
����
���� ������
�
�
 �� ����������� �
������ ��	���� Γn �� �
� ����������� 
� �
� ��� �
�� �� �
��������� �
�
� ������� 
� ��� �
��� 	
��������
� �
 � ����
���  ������
 !�



���

�� φ1 �� ��	
�� φ2 ��
 φ3 ��� �� �	��
 �	����� ��� �	��	
��� �	��������
 �	�������� �����

������	� ��	�����

��������� fmin = φT
1Mssφ2 + φT

2Mssφ3 + φT
3Mssφ1 �� �!�"

���#��� �	� c1 = φ12 φ32 ≤ 0, c2 = φ13 φ23 ≤ 0, c3 = φ23 φ33 ≤ 0 �� �!�"

��
� ceq,1 = φT
2Mssφ2 = 1, ceq,2 = φT

3Msφ3 = 1 �� �!�"

$�� �	����	� �	 ��� ����������	� ��	���� 
�������
 �� %&� � �! ��	��
�� � ��� 	� �	
�

����	�� 
���� ��� 	���	�	���� 
��� ������� �	 ��� ���� �����' (φT
i Mssφj = δij� 
����

i, j = 1, 2, 3) $�� ���&�����( �	���������� %& � �! ��"� �	���	� ��� �	
� �����) �	� ���

�(����� � 
������	������
	� ����
������	��� �(���� �	���
���
 ������� ��� *��� �	
� ��� �	

�	
�� ���� �	��	����� ���� ��� ���� ����"� ��� ���	�
 �	
� ��� 	�� �	
� �	�� �	��	����

�� 	� 
�+����� ����" ��
 ��� ����
 �	
� ��� �
	 �	
�� ��
	 �	��	����� ��� 	� 
�+����� ����" 

$�� �	��������
 	���������	� ��	���� �� �	���
 �� �,$-,. ����� ��� ������� ������	� 

$�� ���	����� 
	�� �	� ��+�� ��	� �������( ��
 ��������( ������ %'�����	� 	� ��� ���	�����

�	 ������ 
������	� ��	����� 
	��
 ��&���� ��� ������������� 	� �	�� ���&�����( �	���������

�	 ������ ���� ��� �	����	� �� �������� ��
 ���&�� /	
���� ���� ������� ���� ��� ����� 	� ���

�	
�� �	��	������ � � ����������( ��� �	
� �	����	��� ��� ��	
� 

����� ����	

 ���
���� ��� ��	 ��	����
����� �� ��	 ����
��


��	�
���
���	 ���	�

$�� 	���������	� ��	���� �	� ��� �
����*����	� 	� ��� ,������ �������������� 
�� �	�������


�� ��� ����������	� 	� ��� �	��	
��� *����� ������	��

f =

3∑
i=1

∫
(u̇rel,i

exp − u̇rel,i)
T
(u̇rel,i

exp − u̇rel,i) dt

3∑
i=1

∫
u̇rel,i
exp

T
u̇rel,i
exp dt

+

3∑
i=1

∫
(ürel,i

exp − ürel,i)
T
(ürel,i

exp − ürel,i) dt

3∑
i=1

∫
ürel,i
exp

T ürel,i
exp dt

�� �0"



���

����� u̇rel,i
exp , ü

rel,i
exp ��� 	�� ��
�	��� 	
 	�� ���� ���

� ��

��	� ��� ����
���	�
� ���	
����


�	����� ��
� 	�� ��
������� 
� 	�� �����	� ���� �����	�
� ���
���� u̇rel,i, ürel,i ��� 	�� �
����

��
����� ����
�	�� ��
�	��� ��

��	� ��� ����
���	�
� ���	
����� ��� ��
�	��� ������	���	���

����
��� ��� ������	�� �
� ���� �������	� ���	�� ������	�� ���	
� S = [m1,m2,m3, T1, T2,

T3, ζ1, ζ2, ζ3, φ11, φ21, φ31] ���
����	��� �
������
 �
��
 ������
��	�
�� � � ���!� ��� 
�	���


�

�	�
� �� 	�� �

�	�
� ��
������ �

� ��

��	��� ��� ����
���	�
�� ����� ��	�� 	�� 
�������


���� ��� ����
� ��� 	�� ��
�	��� ����
������	� ���� �
	 ���
���� �� 	�� "	���� ����	�
� � �

���# �� �
�� �����	���	� 
� 	�� ��
����
�	� 
� 	�� ��
������ ��
�	��� ����
������	�� �� �����

��������� �� ��	��
 �� $���	�� % &'����
 (�
�������)� ��
	��� ��
����	 �
��	 	��	 ��
�
� ��

���	�
��� �� 	��	 
�
� 	�� ����
��� �� 	�� "��	 	�
 ���
��� 
� �
	�
� ��� �
�������� �� 	��

���
��	�
� 
� 	�� "	���� ����	�
�� ��� 
������� ��
�	��� ���� �����	�
� ����
��� �� ������

�����"���	
� ��	�� 2sec� 	��� 
�		
� ��� ��
���
� �������
��� ���
���	�
� ��� �� ��	������

��
� 	�� 
��	 ������	 
� �
	�
��

��� $*���' ��� ��� �� 	���� 
� 	�� ���� �����	�
� ��	� 
� 	��	� +�!�, ��� ��� ���	 �

��� � 	��	 
� � ���� ���

 ���
�	��� ��� ����� ��� �
	 �
�������� ������� ���	� � ��� #

��
����� �
��	��
 ����
	� �� 	�� ����	�"��	�
� 
� 	�� -./' ��� 	��� ���� �
	 ���
���� �� 	��

������	���	��� ���	�� ����	�"��	�
� �� ��� �
��
�	�
� ��0� ��� �
��
�� �� ����� ���	��	 
�

	�� �
�
��	��� ���
� �

 ��������� $*���' ������	��� ���� ��	 	
 	���� �����
	 ��
��� ���

����	�"��	�
� ��� ����
���� �� � �
����� ������ ����� 	
 ������ 	�� 
��������� 
� ������
�

�

�	�
��� ��� �	��	 �
��	 ��� 	�� ������ ����� �
�������� ��� ����� �� ���
� ��!� �� �1	��

������	�� ��� ����� 	
 	�� ����	�"��	�
� ��
�
��� ���� 	�� 	
	�
 ������	���	��� ���� ms�

��� �
�
��	�� ��� ���	������ 	
 


2 �
� �

�	�
�� �
� ����� ms = m1 +m2 +m3� ���� ���

�
�� �� ������ 	�� ����
	� 	��� (ms −m1 −m2 −m3)
2/m2

s 	
 	�� "	���� ����	�
� f � � �

���#�

������ � ��� 	 
����
�� ��� ���������
�� ������� ����� � ��� �� ��� �������� 
�� ��� ���������� ����

���������� �
 �� ��� �������� 
�� ��� ���������� �
��� ���� ���������� �
 ���� ��



���

����� ��	
 ���
� ����� ��� ���
�� ����� �������
�� �� ��� ������������� �� ��� �������
����
��
����
� ������ ��
�� ������
 ����� ��
�����
�� ������ ������
 ������� ����� ��

��� �������������� ���
� ������
 ����
 ����� �
���
����� ���
�� ������
 ����
 �����
�
���
����� ��� ��
���� �
� ���
����� �� sec� ��� ��

��������� �
� ����! "���� �� Hz ��
��"�� ������ �
��#����

����� ����� �	
�� �	��
 ����� �	��


m1 (tons) 	$� %&& ��'&
m2 (tons) 	$� %&& ��'&
m3 (tons) (%) �$	 ��'&
ms (tons) ��'& ��)& �*&&
T1 (sec) &��	 +*�* ,-. &��& +�& ,-. � +� ,-.
T2 (sec) &�&$ +�� ,-. &�&	 +(& ,-. � +� ,-.
T3 (sec) &�&	 +(& ,-. &�&( +	& ,-. � +� ,-.
ζ1 (%) � & �&
ζ2 (%) � & �&
ζ3 (%) � & �&

φ1

⎛
⎝0.014
0.028
0.042

⎞
⎠

⎛
⎝0
0
0

⎞
⎠

⎛
⎝1
1
1

⎞
⎠

����� �����	
�� ��
���� �������������� ������

��� ������� ����� ��
 ��� ����� ���� ��� ms = 1, 390tons� ���� ��� ����
��
����
� ���� ��


��� ������� �������� �� ��������� �! ��� ��
����
�� �������
� ���� ���� ��� ����
������

�� ��� /��
� ����
���� �� ����
 �
���� 
�������� �� m1 = m2 = 571tons ��
 ��� ��� ���0

��� /��
� ��� m3 = 248tons ��
 ��� ��������� ��� ��
����
�� ��
���� ��
� ��������� ��

0.15sec, 0.07sec, 0.05sec +6.6Hz, 13Hz, 20Hz �� ��
�� �� �
� �������.1 "����� ��

���������

�� ��� ���
��
 ��������� �����
� ���#� �� ��� 
���
��� ������
������� ��� ����
�� ���$� ���

����� ������� 
���� ��� ��#�� 1% ��
 ��� ������ ��� �
�� ���� ����� ��� ������� �� ��

�����
�! ���
������ ���� ������ ��� ��� ���
�������� �� φT
1 = [0.014, 0.028, 1]T +��� �������

����� ��
 φ1 ��� ��
����-�� �� ���� ��� �
�� ����� ���� ��#�� ���� "����.� ��� ����
 ������

��
 ��� /��
 ������ ��
� 400tons ��
 ��� �
�� ��� ������ /��
 ������ ��� 175tons ��
 ���


��� ����� ��� ��

��������� ����
 ����� ��� 1, 390tons ��
 ��� mi� ��� ����
��
����
�

���� ms ��� ������� �� "�
! ±15% ���� 
������ �� ��� ������ �������� 1, 390tons� ��� ����




���

�����	 
�� T1, T2, T3 �
�
 0.1, 0.05, 0.02sec �10, 20, 50Hz� �
	�
����
��� ��
 ���
� ����� ��	

1sec �1Hz� 
�� ��� ����� �
����	� �������� ��
 	
���� 	���
 
�� ��
 ����� ������� �����	

��	 [0, 10]%� ����
 ��
 	
���� 	���
 
�� ��	� ����� ������
��	 φi1 ��	 [0, 1]�

��
 	��
�	�������
 ���
� �����
�
�	 ������
� 
��� ��
 ��
���������� �
 �
	�	  �!�"�# ���

�$ ��
 ������
� �� ����
 ��"� ��
 ���
 	���
	 ����
	������� 
�� ��
 ��
����
� 	�	�
� ��


	���� �� �����
 ���"� φ1 ��	 ������
� 
��� ��
 ��
����������� ����
 φ2,φ3 ��
�
 
������
�

� ��	�
����� 
��� ��
 	������� �
 ��
 ������%����� �����
� 	���� �� &'� ���(� ��
 ��
����
�

	�	�
� �
���� �
����
� �
�
�� ����
	����	 �� ��
 ������� 	������� ������
� �� ��
 )*+,&-�

+	 �� ��
 ��	
 �
 ��
 ��
����
� ./0-� ��
 	������� ������
� �� ��
 )*+,&- �	 ��� ���'�
1 ��


��
���������� �
 ��2
�
�� �
	�	 �
	���	 �� 	��
���� ��2
�
�� 	�	�
�	� *��
��
�� ���
�
��
��

��
���������� ���	 �� ��
 	��
 	
� �
 ���� ������
 �
�
� ��2
�
�� 	�	�
� �����
�
� �
����	�

��
 	������� �
����
� �
�
�� �	 ��
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• ��
 	��
�	�������
 ��		 ms� ��
 ��� ��	� ����� �
����	 T1, T2 ��� ��
 	
���� �����

������� ����� ζ2 ��
 ��
 ��
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� ����
���
	 ���� ��
 ���
	� 	����
�� 4� ��
 ���������

��
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����� ���
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�� T3 = 0.03sec (f3 = 33Hz) 
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	� �$ ���

T3 = 0.06sec (f3 = 18Hz) 
�� ��
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	�	� ���	 �	 � �
�� ���
�
	���� ������1
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����� ��	
 ���
����� ������� �������������� ������� ����� �����

 ����� ����������� ����
�
� �� ����� �����

 ������� �������
� �� ���� ��������� !������" �����
�� #��� ��� ���
�
��������
 �# ����� $%&%	%' �
� �(� )����
% ��� ����� ����� ����
���� ��� 
������*�� �� ����
φ31 = 1 ��� ����� ��� ����
�*�� �
 ����� �# �
������
� ��������� ����+ ���� ,��� �����������
�
-.�"� ��!�
�� �� 
�
�� �����

 ���������� �
 ��� �����
�� ���������� ����
% ���
���� ���
!�����
 �
� ���/���
� �# !�������
"� ��� ��
��� !���� ������" ��������
��
� �� ��� �������
�������
 �� ��!�
 �
 ��� ���� ��0 �# ��� ������ ��� 
����� �# ����� ��� �������
 0�� ��������
�!�� ��� ����� 
����� �# ���
��������
 ��
� ��� ��!�
 �
 ��� ���� ��0 0����
 ����+����

���� � ���� �� ���� � ���� � ���� 	 avg stdev cov(%)
PBA(g) 0.329 0.363 0.374 0.419 0.425
m1 (tons) 1�( $(( 		1 	'( 12$ 	&( �$	�& 3�
m2 (tons) &$$ 2$( &�	 $		 $$	 &	1 �&2�1 32
m3 (tons) 323 3$2 3&$ 3'� �	� 322 $&�	 �	
ms (tons) �&$$ �$22 �$&' �$&� �&'$ �&(2 	(�� $
T1 (sec) (�3	 (�31 (�31 (�31 (�31 (�31 (�(( �
T2 (sec) (�(2 (�(' (�(' (�(' (�(' (�(' (�(( 3
T3 (sec) (�(& (�(� (�(	 (�(	 (�(	 (�(& (�(� 33
f1 (Hz) ��' ��1 ��1 ��2 ��1 ��11 (�(& �
f2 (Hz) �3�� ���1 ���	 ���	 ���$ ���1( (�32 3
f3 (Hz) �2�2 ���3 �2�� �2�� �2�( 3��3� 	�1( �3
ζ1 (%) ��� ��2 ��3 $�3 3�& (�(� (�(� $	
ζ2 (%) 	�( &�$ 	�� 	�$ &�$ (�(	 (�(( 2
ζ3 (%) ��2 $�( 3�& 3�1 3�$ (�(� (�(� �(

φ1

⎛
⎝0.446
0.471
1.0

⎞
⎠

⎛
⎝0.471
0.724
1.0

⎞
⎠

⎛
⎝0.452
0.812
1.0

⎞
⎠

⎛
⎝0.456
0.817
1.0

⎞
⎠

⎛
⎝0.467
0.821
1.0

⎞
⎠

⎛
⎝0.456
0.798
1.0

⎞
⎠

⎛
⎝0.01
0.04
0

⎞
⎠

⎛
⎝2
5
0

⎞
⎠

error 0.077(2/10) 0.081(3/10) 0.067(4/10) 0.063(6/10) 0.063(8/10)

���� �# ��0�� ���������% �������� �� ����0��� ������� ����� ������� 0��� ������� ��

����� &%	% �
� '�

• ��� ���� ���� ������ ���
����� #��� ����� $%&%	 �
� ' ��� ����
����� ��� ����% ���

���� ������ ��31� ����� !�������
� ��� #��
� �
 ��� ����
� ���� ������ �# ��� ���
�����

� ������ ����� ��4���
��� ������ ������ �
 ��� ����� ���� ������� 5
�� ���� ����

�( �� ��� ���� ���!���
� ��4���
� �������� ��� ��4���
��� �
 ��� �����
�� ���� ������

��
 �� ���������� �� ��� ��4���
� ���� �����������
� �����
�� #��� ��� ���
��������


�# ��� ��
��� �����% ��� ����� ��1� ��� ����� ��� ���� �( �
������ � �������� �# ��� ����
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�����	 �
��
 ��������� ���	 ����	� �� ��	 ������� ���	���������	 ������	� ���� ��	 ��	��
��������� �� �	��� ������ ��� �!


"��#	 �
$
 %�	����	� &��� ���� ������ mi/ms� '�	�	 mi (i = 1, 2, 3) �� ��	 ��	����	� #���	�
���� �� &����� ��� ms ��	 ��	����	� ���	���������	 ����
 "�	 �	��� ��	 ���	�	� �� �	��� ��
����	����� (	�) *��	 &��� ���	#	������ +(*�,


���� � ���� �� ���� � ���� � ���� 	

PBA(g) 0.329 0.363 0.374 0.419 0.425
m1/ms !
�� !
�$ !
�� !
�$ !
� 
m2/ms !
�� !
�� !
�$ !
�� !
�-
m3/ms !
�- !
�$ !
�$ !
�! !
��
(m1 +m2 +m3)/ms �
!! �
!! �
!! �
!! �
!!

'��� ��	 ���	���������	 �	���� 
 m1 ≈ 0.45ms,m2 ≈ 0.35ms,m3 ≈ 0.20ms
 "�	 ����

#�	� �� ��	 ��� �� ��	 ���#���� ��� ������	� � ���������� ���##	� ��	� ���� ��. ���	�

&��� �	��	 �� �� �	������#	 �� �	 ��	����	� '��� ��	 #�'	�� ����� �		 ���#���� 	/�	����

����� �
� 
 "�	 �	���� &��� ��� ��	 ���	 ��	� �� ��	 ���� ��	� ��'	0	� ��	�	 �� �

�	����	 �� ���� &���� ��� ��	�	 �	�� ��� #�0	 #��� �� �	���	�
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	 �����
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��	 ��� 
�� 	����
 ��
�% �� 
��
��
�� �� 6%� ���	 ��
��
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 �� ����
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�
��� �� 	��
��� ������

'�� 
�	
	 ���	�
���
 ���� �
��
���
 	����		����&% �����
��� 	&	
��	 ���	� ��	���	� ��
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����� !�
���� �+�������
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��
���
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���
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 Test 9: relative accelerations, floor 1

 experimental accel.
 identified accel.
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 Test 9: relative accelerations, floor 3

 experimental accel.
 identified accel.
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 Test 9: relative velocities, floor 1

 experimental vel.
 identified vel.
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 Test 9: relative velocities, floor 3

 experimental vel.
 identified vel.
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 ���������� �� ��������� ��� ������������ �������� ���������� ����� ���� �
 ���
���� ���� ��� ��� ���� ���������


�!� �����" ����� �� �!� �"���� EI(t)# ��� $%
 	
&�


EK(t) + ES(t) + ED(t) = EI(t), �	
&���

EK(t) =
1

2
u̇s(t)

TMssu̇s(t), ES(t) =
1

2
us(t)

TKssus(t), �	
&���

ED(t) =

t∫
0

u̇s(τ)
TCssu̇s(τ)dτ , EI(t) = −

t∫
0

u̇s(τ)
TMsιüb(τ)dτ �	
&���
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 Test 9: relative displacements, floor 1

 experimental displ.
  identified displ.
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 Test 9: relative displacements, floor 3

 experimental displ.
  identified displ.
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 Test 9: story drifts, floor 1

 experimental drift
 identified drift
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 Test 9: story drifts, floor 3

 experimental drift
 identified drift
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 *��	 �� ��
 �� +��,
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��
��

�� �����	 ������
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 Test 9: Energy equilibrium

t [sec]

En
er

gy
 [k

N
m

]

 Kinetic and strain energy EK(t)+ES(t)

 Damping energy ED(t)
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 Test 9: Modal energies

 1st modal energy

 input energy

 2nd modal energy

��	
�� �
��� ��� ���� ��������� �� ����	� ���������� �� �����
� ������	 ��� �� ������� ��
�
������ ����	� ��� ��� ��������� ������ 
���� ����  
 ��� ���� ��������� �� ��� ���
� ����	�
��� ��� ������������	 ����� ����	���


��	��	����
 ��� ����	� ���
� �� ��� ����� ���� �� �������! �������	 ����� ������������� �� ���
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En(t) = −
t∫

0

φT
nu̇s(τ )

TMssιüb(τ)dτ ,
3∑

n=1

En(t) = EI(t) ��
"#�
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��� ���$���� ��� ������	 ���%������ kij ��� cij &���� ��� ����	 ��� ��������� ������ ��'

��������! ������������ ���� ��� �� ������ ����
���� �� � ����'���������	 ����� �� ��� ��������

����������
 ��� ������	 �����( ��� �� ������
���� ���� ��� ��������� ������	 ������ ζn

�� �
����������� �� ����� ������	 ��������! ��������	 �� )*
 �
"�
 ��� ������	 �����(

�������� �� ���� �(�������� �� ���������! �
�
 ��� ����� ��� �����	���� &��� ������� �� Css
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M ν̇(t) +C ν(t) +Ku(t) +BF (ub(t), u̇b(t)) = P (t) �����

��⎡
⎣ mb

0

0

Mss

⎤
⎦
⎛
⎝ ν̇b

ν̇s

⎞
⎠+

⎡
⎣ Cbb

Csb

Cbs

Css

⎤
⎦
⎛
⎝ νb

νs

⎞
⎠+

⎡
⎣ Kbb

Ksb

Kbs

Kss

⎤
⎦
⎛
⎝ ub

us

⎞
⎠+

⎛
⎝ Fb

0

⎞
⎠ =

⎛
⎝ Pb

Ps

⎞
⎠

����	�

�����

BF = [Be ,0,Bf ]

⎛
⎜⎜⎜⎝

Fe

Fh

Ff

⎞
⎟⎟⎟⎠ =

⎡
⎣ 1 0 1

0N×1 0N×1 0N×1

⎤
⎦
⎛
⎜⎜⎜⎝

Fe

Fh

Ff

⎞
⎟⎟⎟⎠ =

⎛
⎝ Fe + Ff

0N×1

⎞
⎠ =

⎛
⎝ Fb

0N×1

⎞
⎠

������

ub 	�� νb 	�� ��� �����	��
��� 	��  ������� 	� ��� ����	���� �� �� ������� !����" �����

us 	�� νs 	�� ���  ������ �� ��� ����� !��� �����	��
���� 	��  ���������" ��� ������ �������

ub 	�� us 	�� ���	�� � �� ��� ������� Fe 	�� Fh 	�� ��� ��������� ������ ��� ���� �� ���

��	���� ������� ke 	�� kh ���� �� ��� ���������	���� �� ��� ������ ��	������ Ff �� ��� ��������

����� ��� ���� �� ��� �������� �������� ��� ��	�����
	���� 
	���# B" �� �
�� 	������ ���

��	�����
	���� 
	������ Be,Bf " 
	� ��� ��������� ������ F �� ������ �� ��� ����	���� �����


�� ��� ������	�� ������ (Fb,0
1XN)T 	����� 	� ��� ���������� �������$��$������
 (ub,u

T
s )

T �

%��� �����&�	���" ��� ���$����	� ������ �� ������ 	� ��� '()* 	�� ���� 	� ��� ����	���� �� ��"

��� ��� 	� ��� ��������������� mb �� ��� 
	�� 	� ��� �	�� !���" +��� 	�� � ��� ����	����

�� ��� ��� �	
���� 	�� ���,���� ���������� �� ��� ����	���� �����
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���$������ -��.� )� ��	����" ����� ����	�� 	��� ��� ���,���� ��
��� ���
 ��� ������������" ���

������� ������ Mss,Css,Kss 	�� ��� �������������� 
	��" �	
���� 	�� ���,���� 
	������

	�����	��� �� ��� N ������� �� ������
 �� ��� ��������������� P �� ���  ����� �� ��� �#����	�

������ 	������ 	���� ��� ���������� ������� �� ������
 ub 	�� us� )����	����� �������
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������ �� ����
�� ����� �� $����� !������ M,C,K 
�� �� ������ ��������
 ���� 	�� ��
��

���� 
������ ��
 �	�#���� ������	��� �� 	�� �����	��� �mb, cb, kb� ��
 	�� ������	��
	���

Mss,Css,Kss ��� %&� !�'� (����� 	�� 
��	����	��� �� 	�� ������ �������� 	� ������
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���� �� )����

Mss =

⎡
⎢⎢⎢⎢⎢⎢⎣

m1

mi

..

mN

⎤
⎥⎥⎥⎥⎥⎥⎦
, Kss =

⎡
⎢⎢⎢⎢⎢⎢⎣

k11 k1i ... k1N

kii .. kiN

.. ..

(sym) kNN

⎤
⎥⎥⎥⎥⎥⎥⎦
, Css =

⎡
⎢⎢⎢⎢⎢⎢⎣

c11 c1i ... c1N

cii .. ciN

.. ..

(sym) cNN

⎤
⎥⎥⎥⎥⎥⎥⎦

�!�'�

*�� 	���������	��� ��	��
�� Tb, Ts 	�������� 	�� ���� �����	��� ��
 ������	��
	��� 
���

���
����	� ���� 	�� ��
�� 
���
���	� ���	�� ����� 	�� �	�#���� kb ��� Kss� �� ����� 	� 	��

������ 
���
���	� ���	�� ����� 	�� �	�#���� ��	��+ K �� ������� ��� %&� !�!�

ub = Tb u = (1 01×N)

⎛
⎝ ub

us

⎞
⎠ = ub �!�!��

us,rel = Ts u = (−1N×1 IN×N)

⎛
⎝ ub

us

⎞
⎠ = us − 1ub �!�!��
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δWint = δuTKu = δuT
b kbub + δuT

s,rel Kssus,rel � ���!

δuTKu = δ(Tb u)
Tkb (Tb u) + δ(Ts u)

TKss (Ts u) � ���!

δuTKu = δu T
(
T T
b kbT b + T T

s KssTs

)
u � ���!

"#�  ����! �

�� �
� ��� ��������
� ����
������	 u 
� ���	��
 ����
������	 δu� ����� 	��

�

��
 �	������ ��	��$ �#��
��

K = T T
b kbTb + T T

s KssTs � �%!
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� 	�� 	�� �$������
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� ��	����� Tb, Ts ��	
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K =

⎡
⎣ Kbb Kbs

Kbs Kss

⎤
⎦ =

⎛
⎝ 1

0T

⎞
⎠ kb (1 0) +

⎛
⎝ −1T

I

⎞
⎠Kss (−1 I) � �'�!

K =

⎡
⎣ Kbb Kbs

Kbs Kss

⎤
⎦ =

⎡
⎣ kb + 1TKss1 −1TKss

−Kss1 Kss

⎤
⎦ � �'�!

��� �

��
 ������� ��	��$ ��� �� ���
��	�� ���
�����
��

C = Tb
T cb Tb + Ts

TCss Ts =

⎡
⎣ cb + 1TCss1 −1TCss

−Css1 Css

⎤
⎦ =

⎡
⎣ Cbb Cbs

Cbs Css

⎤
⎦ � �(!

K,C ��� �����	���� ����)�
��	��� ��*��	� ��	�����+ K,C ���� 
�� �������
�� �#��
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�� M �� ����
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�
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��� -

� ���� mb �.��	 ��
�� 	�� ��

�	�
� ���	��! ��� 	�� -

� ������

mi (i = 1, ..i, N)�
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$� �		� �� ��	 %�	&���� ���%�	�' ��	 ���"���	��  	��&��� �� 	��� ���� �� ���	��	� �����

�(� 	������ �%����� �������	��)	�  ! ���*�	�� ki
e = ki

0 ��� ki
h = k0k1

k0−k1
�	�%	���&	�!' ��� �

%������ ����	� (��� !�	�� ����	 F i
y
 +�	 �(� �%����� (��, �� �	��	�' ��	�	���	 ��	 �	�������

����	 %��&��	�  ! ��	 i − th ���� 	#���� ��	 �	������� ����	 F i
e %��&��	�  ! ��	 	������

�%���� ki
e �� 	#��&��	���! ��	 ��� �� ��	 �	��������� ����	� %��&��	�  ! ��	 �%���� ki

h ��� ��	

%������ ����	�' �
	
 Fh
i + Fp

i' �		 �����	 �
�
 +���' ��	 	#���� ���� 	#������ ��� ��	 ��  	�

 	������  	���	��

Fe = Fh + Fp ��
-�

Fe, Fp, Fh ��	 ��	 �	�������� �� ��	 ����	�%������ ����	� F
i
e , F

i
p, F

i
h �	&	��%	� �� ��	 �����	

�����' �
	
 Fe =
NR∑
i=1

F i
e , Fp =

NR∑
i=1

F i
p, Fh =

NR∑
i=1

F i
h' (�	�	 NR �� ��	 ��� 	� �� ��	 ����

��	� �� ��	 ��������� �!��	�
 .�������! ke =
NR∑
i=1

ki
e, kh =

NR∑
i=1

ki
h ��	 ��	 ���*�	��	� %��&��	�  !

��	 NR ��  	�  	������
 /� ��	 ������	�	� ���	 ����!' ��� ��������� ��	 �� ��	 ���	 �����'

�	��	 %��&��	 ��	 ���	 �	������� ����	�




νe = u̇e, νh = u̇h

νp = u̇p, νf = u̇f

ν = u̇

νe + νp = Be
T ν

νh = νp

νf = Bf
T ν

Be
T ν = Bf

T ν = νb νb

νe, νh

Fe, Fh

νe = AeḞe

νh = AhḞh

Ae =
1
ke

Ah = 1
kh

νp, νf Fp, Ff
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��� �� 	�
��	 ��
���� ��� 	���������� �������� ϕ(Fp, Ff )�

νp =
∂ϕ(Fp, Ff )

∂Fp

, νf =
∂ϕ(Fp, Ff )

∂Ff

�������

ϕ(Fp, Ff ) = ϕp(Fp) + ϕf (Ff ) �������

ϕp(Fp) = UE, ϕf (Ff ) = UC �������

UE ��	 UC �
� ��� ��	�����
 ��������� �� ��� ������	
�� ���� 	�
���� ��� �������� 	������

��
 ��� ������� ��
�� Fp ��	 ��� �
������ ��
�� Ff ��� �!"�

E = {Fp : |Fp| ≤ Fy} ����!��

C = {Ff : |Ff | ≤ Ff0} ����!��

����� �������	�
 ��
���������� ���������

#�� ������������� �$������� ���% ��� �� 
�&
����� �� ��� �����&��� ��
��⎡
⎢⎢⎢⎣

Ae

0

0

0

Ah

0

0

0

0

⎤
⎥⎥⎥⎦
⎛
⎜⎜⎜⎝

Ḟe

Ḟh

Ḟf

⎞
⎟⎟⎟⎠+

⎛
⎜⎜⎜⎝

νp

−νp

νf

⎞
⎟⎟⎟⎠ =

⎛
⎜⎜⎜⎝

BT
e

0T

BT
f

⎞
⎟⎟⎟⎠ν ������

�
 AJ̈ +
∂ϕ

∂J̇
= BT ν ������

&��
� J̇T = F T = (Fe, Fh, Ff ) ������

'$� ���� ���&� ��& ��� ��� �� ��� ������� ��	 ��� ������� ��
��� 
���� AJ̈ ��	 ∂ϕ

∂J̇


�������(��� �$���� ��� ����� ��
��� 
��� BT ν�
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��� �������	�� 
����
	��

��� ���	
��
��
� 
�
 ������� 
���������� ��� ��� 
�
 �����
�����
� 
���
���� ���� ��
 �
�

�
�

� �
�
���

M ü+C u̇+Ku+B J̇ − P = 0 �������

AJ̈ +
∂ϕ

∂J̇
−BT u̇ = 0 �������

��
�
 A,B, J̇,ϕ ��
�
 �
 �
� �� !�� ���"� ���� ��� ���#�

$�
����
������% !�� ������� �� � &��
��
������ ���������
 	��
��� �������
�
�
 δu ��
�

��'���% �����
�����
�� ��� !�� ������� �� �� ���������
 	��
��� ������
 δJ ��
��'���% 
����

�������� �
 ��
����

δuT M ü+ δuT C u̇+ δuT Ku+ δuT B J̇ − δuT P = 0 ����(��

δJT AJ̈ + δJT ∂ϕ

∂J̇
− δJT BT u̇ = 0 ����(��

)�
 	����
��� �' 
�
 ��
��� ��

%��� '�� 
�
 
�
��
 �
���
��
 �� ��
���
� �'

� �����% !��

���(��� ��� ���� ��

%��
��% �	
� 
�
 
��
 ��

�	�� (0, t) ��� ��&��% ��
 �' ��

%��
��� ��

���
��

δI =− δ

t∫
0

(
1

2
u̇T M u̇− 1

2
uT Ku+

1

2
J̇T AJ̇ + JT BT u̇

)
dτ ����*��

+

t∫
0

(δuT C u̇) dτ +

t∫
0

(
δJT ∂ϕ(u̇, J̇)

∂J̇

)
dτ −

t∫
0

(δuT P ) dτ = 0 ����*��
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��� ��	
��
�
 �� ��� ���
�
 

���	��� ��� ����� ��
 �� 	��	
���
 ���

δI = −δ

t∫
0

L(u,J, u̇, J̇) dτ+
t∫

0

(
δuT ∂ϕ̄(u̇, J̇)

∂u̇

)
dτ+

t∫
0

(
δJT ∂ϕ̄(u̇, J̇)

∂J̇

)
dτ−

t∫
0

δuT P dτ = 0

������

�
�� ���  ��	�
�
�
 L �
! ��� !
��
"��
�
 �#
��
�
 ϕ̄ �
��
 �$

L(u,J, u̇, J̇) = 1

2
u̇T M u̇− 1

2
uT Ku+

1

2
J̇T AJ̇ + JT BT u̇ �������

ϕ̄(u̇, J̇) =
1

2
u̇T C u̇+ ϕ(J̇) �������

%
 ��� !�&

�
�
 �� ��� ��
�	��
'�!  ��	�
�
�
 �� 	����

'� ��� (

��
� �
�	�$ �� ���

�$���)� EK = 1
2
u̇T M u̇ � ��� ��	�

 �
�	�$ �� ��� �#"�	��	#��#	�� ES

S = 1
2
uT Ku �
! ���

�����
� ��	�

 �
�	�$ 

 ��� 
�����
�
 �$���)� ERB
S = 1

2
J̇T AJ̇ = 1

2k0
Fe

2 + 1
2kh

Fh
2� ��� ��	(

��	) Wb = JT BT u̇ =
∫
Fb dt u̇b = Fb du 
� 	�����! �� ��� 
)"#��� �� ��� ��	��� 

 ���


�����
�
 �$���)� %� ������� ���� ERB
S + Wb 
� ��� �""��
�� �� ��� �
�	�$ !
��
"���! 

 ���


�����
�
 �$���)�

*�
��	���$� ���  ��	�
�
�
 �
! !
��
"��
�
 �#
��
�
� ����
 

 ��� ���� ��
 �� #��! 



��� �#��	 +  ��	�
�� ��#��
�
� �� 	�����	 ��� ����	


� ��#��
�
� �� )��
�
 ���,�

d

dt

(
∂L
∂u̇

)
− ∂L

∂u
+

∂ϕ̄

∂u̇
= P �������

d

dt

(
∂L
∂J̇

)
− ∂L

∂J
+

∂ϕ̄

∂J̇
= 0 �������
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����� 	
�� ��
� �������������� ���
����


u v v̇ F Ḟ

ui + h
4
(νi+1 + νi) 1

2
(νi+1 + νi) 1

h
(νi+1 − νi) 1

2
(F i+1 + F i) 1

h
(F i+1 − F i)

��� ������	�
�	��
 �� �����
�
� ����	��
� �� ��	��


�
���
�������� �� ��������� 
���� ��������� �� ��
���� 
���� �������� �� ��� ���� �� ����

��������� ��
����� �� ��� ���������� ��� ��� ���������� �� ��� � ������� �� 
����� 	
�!� ���

�� ��� �������� �� ��� ���������� ������ BF 
 ����� �� ��������� ��� ���� ��� �
���
���

������ �� � ������ ����������� ����
�� ��� ���
��� "�#
��$%� 
����� &'(
 �� �����������

���������� ��
������ 
������� ��� ��������
��� 
����� �� ��
����� #��� �� �����
�����

�������)� ����
� �� ���)��� ��� ���������� ���������� ��������* ��� �����
 ��������
���� ���

���� ��� ���
��� ��$��#��
 ��� +���� ,��������� -������� �����#�� ������� ����#� ���

�������
��� �� ��� ���������� �������� ������
 �� � ����������� ����
������������� �����

��
� #���� ��� ���
��� ��$��#�� ��� ��� ���������)� ������ ���.�� ��� ����)������� ������

�����
 /�� ��� ���
������� �� ��� ��
� ���� ����
������� ������
� ��� ��)������ � ������� ��


������ ��� ����������� �� ��
� ��� ���������� ����������� �� ���)��� ��� ������������ ���

�#��� ��� ���
��� ��$��#�� Fp, Ff 0�� � ��)������� ��� )��������� νp, νf 1 ��� ��� ��
������

�����
 ����
������ �
�
 ��������
����� )��������� ��� �������������
 2������ ��3������� ���

��� 
�������� ���� ��� ���� ��� ��� ��
� �������������� �� ��� ��)������ � �������� ��� �����

	
�
 ���������� ���� ������� ��� ��
� ���� ����� �� ������� �� h = t(i+ 1)− t(i)
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�	 �
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���� 	���
�
��

M
νi+1 − νi

h
+C

νi+1 + νi

2
+K

(
ui +

h

4
(νi+1 + νi)

)
+B

F i+1 + F i

2
=

P i+1 + P i

2
������

��� ���� ���  	 �
�!	� �
� 
�	 !	�

� !	�
��
�	� νi+1�

νi+1 = ν̄i − h

2
M̄−1

(
Be F

i+1
e +Bf F

i+1
f

)
�������

where ν̄i = M̄−1

(
¯̄Mνi − hKui +

h

2
(P i+1 + P i −BF i)

)
����� �

M̄ = M +
h

2
C +

h2

4
K, ¯̄M = M − h

2
C − h2

4
K �������

"� ��� ���� ��� 
�	 #�
���
 BF ��� �	#���	�  $ 
�	 ��� [Be, 0,Bf ][Fe, Fh, Ff ]
T =

Be Fe +Bf Ff �

����� �����	
���
�
� 
� 
�	 �
���
�����
� 	���
�
��

%�	 �
�#�
� ���
$ 	���
�
�� ���� ���  	 �����	
��	� �� 
�	 �
�� ��!	�  	�
��

Ae
Fe

i+1 − Fe
i

h
+

νp
i+1 + νp

i

2
= Be

T νi+1 + νi

2
����&��

Ah
Fh

i+1 − Fh
i

h
− νp

i+1 + νp
i

2
= 0 ����& �

νf
i+1 + νf

i

2
= Bf

T νi+1 + νi

2
����&��

'���� ��� ��( ��

 ��� ���&� � ��� �
�!��� �
� Fe
i+1 �	 
 
����

Fe
i+1 = Fp

i+1 +
h

2
Ah

−1 νp
i+1 − F̄p

i
�������



���

where F̄p
i
= Fp

i − Fe
i − h

2
Ah

−1 νp
i �������

����� �����	
	 ��
	����� 	���
����

	
� ��
������� ��� �
� ���������� νi+1� ��� �������� �� ���� �� �
� ����������� ���
�������� 

��� ���!��� ��� ��� ��� �
� ������ ��� ������ ��� �
� 
������ ������ ����� νi+1
p , νi+1

f � 
�������"#

⎛
⎝ νi+1

p

νi+1
f

⎞
⎠ =

⎛
⎝ ν̄i

e

ν̄i
f

⎞
⎠−

⎡
⎣ Āee Āef

Āfe Āff

⎤
⎦
⎛
⎝ Fe

i+1

Ff
i+1

⎞
⎠ ����$��

%
��� ⎛
⎝ ν̄i

e

ν̄i
f

⎞
⎠ =

⎛
⎝ ¯̄νe

i

¯̄νf
i

⎞
⎠+

⎡
⎣ ¯̄Aee

¯̄Aef

¯̄Afe
¯̄Aff

⎤
⎦
⎛
⎝ Fe

i

Ff
i

⎞
⎠ ����$��

¯̄νe
i = (BT

e +BT
e M̄

−1 ¯̄M ) νi − νp
i +

h

2
Be

T M̄−1(P i+1 + P i − 2Kui) ����$��

¯̄νf
i = (BT

f +BT
f M̄

−1 ¯̄M ) νi − νf
i +

h

2
Bf

T M̄−1(P i+1 + P i − 2Kui) ����$��

Āee =
2

h
Ae+

h

2
BT

e M̄−1 Be, Āef = Āfe =
h

2
BT

e M̄−1 Bf , Āff =
h

2
BT

f M̄−1 Bf ����$��

¯̄Aee =
2

h
Ae − h

2
BT

e M̄−1 Be,
¯̄Aef = ¯̄Afe = −Āef ,

¯̄Aff = −Āff ����$��
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����
����� νf �	� 
����
�� ���� ��� 
�		����
��
� �	�
���
 ��	
�� Ff  ��� ������
 ��	��
 	����

νp �	� 
����
�� ���� ��� ������
 ��	
�� Fe� !���	������� �� ��� �"�	�����
 ���� ��	 Fe
i+1 ��

	����
�� �
 ��� ����#�$ ����	 �	����� ��
��������
� ����� 
�
 �� 	�%�	����
 ��&⎛
⎝ νi+1

p

νi+1
f

⎞
⎠ =

⎛
⎝ ν̃i

p

ν̃i
f

⎞
⎠−

⎡
⎣ Dpp Dpf

Dfp Dff

⎤
⎦
⎛
⎝ Fp

i+1

Ff
i+1

⎞
⎠ #���'$

or ν̂i+1 = ν̃i −D F̂ i+1 #���($

where Dpp =

(
Ā−1

ee +
h

2
Ah

−1

)−1

, Dpf = Dpp Ā
−1
ee Āef = Dfp #��)*�$

Dff = Dfp Ā
−1
ee Āef − Āfe Ā

−1
ee Āef + Āff #��)*�$

ν̃i
p = Dpp Ā

−1
ee ν̄i

e +Dpp F̄
i
p, ν̃i

f = ν̄i
f −

h

2
Āfe Ah

−1Dpp Ā
−1
ee ν̄i

e +Dfp F̄
i
p #��)*
$

��� �"�	�����
� ��	 ν̄i
e, ν̄

i
f , Āee, Āef , Āfe, Āff �	� �	������ �
 ��� ���� #�$ �� #�$�

��� ���� �	�
 ���
	���

��� �������
 �� ��� ���( 
�
 �� ���	����� �� � 
�
��	��
�� ������+����
 �	����� ,��-� ���

���( ���� ��� ������
�	� 
�
�����
� ��	 ��� �������
� ��

���
��&

Minimize Φ(F̂ i+1) = 1
2
(F̂ i+1)TD(F̂ i+1)− F̂ i+1ν̃i

subject to the non linear constraints |F | −U ≤ 0
#��)�$
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Minimize Ψ(ν̂i+1) = 1
2
(ν̂i+1 − ν̃i)TD−1(ν̂i+1 − ν̃i)− (ν̂i+1 − ν̃i)TD−1ν̃i

subject to the non linear constraints |F | −U ≤ 0
"����#

$��� 	�� ����� ���	�� F̂ i+1 
� ��	

��� �� ����
�� 	�� ��	
�
�
	
�� ������� ����� 	��

�����
	� ���	�� νi+1 
� ��	

��� ���� %&� ��� � '
�
�
���� ���� 	�� �����
	� ���	�� νi+1 
�

��	

��� �� ����
�� 	�� ��	
�
�
	
�� ������� ���� 	�� ����������
�� ������ 
�� ��	

��� ��


����	
�� %&� ��� � �
��� ��� ���(� ��( 	� ��
��
	� 	�� ���

�
�� �������� �
�
��	��� 
	

	�� ��� �� 	�� 	
�� �	��� �
��� 	�� �����
	
�� νi+1 
�� 	�� ������ F̂ i+1�

)����
� ��	���� ��� 	�� ����	
�� �� ����	�

��� ��	
�
�
	
�� �������� �
� �� �����


� ��
��
�
� 	�*	����� �� ��	
�
�
	
�� +,,� ,-� , .� /� 	��
� (��� �� �����
�
� ����
���

�
���
	
�� �� �
������
�� �	���	��
� ���	���� '
�
����
� �	 
�� ���� 
� 
�����	�� 0
��
��

�


����
�� ������� (
	� 1�(	��2� ��	��� +,3� ,�.� 4���
� 	�� 5
	�
� ����	
�� fmincon 
�

���� ��� 	�� ����	
�� �� 	�� ��	
�
�
	
�� ��������

����� ��� ��	�
���
���
 �� ��� �������� ���
���
��� �� ��� 	
���� D �
� ���
���������
��

�
 ��� �
�� �� ��� �
������������������	 �����	 ����� ������� �� ����	�� �
���� ��	�����	�

�
 ��� 	� �������������������	 �
��! "
 ��� 
�	����
 
�� ��
���
� �� ��� 
 ������	 ������	��

�
 ��� ���
����� ��� 
��� ���������# ��� 	
���� D �
� ���
� �� �� �������� ���
���� ���������

��� ��
����

 Φ $�� Ψ% �
� ��
��� 

� 
�	����� 
 � ��
 	�
�	�&
���
!
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�������� �� ��������� ��� ���������� �������� �� ��� ��� �� ���� ���������	

���������� νi+1 = ν̄i − h
2
M̄−1

(
Be F

i+1+Bf Ff
i+1

e

)
���	 �	
� 

νh
i+1 = νp

i+1

νe
i+1 = BT

e νi+1 − νh
i+1

!������������ ui+1 = ui + h
2
(νi+1 + νi)

uh
i+1 = up

i+1 = up
i + h

2
(νp

i+1 + νp
i)

ue
i+1 = BT

e ui+1 − uh
i+1

"�#��� Fh
i+1 = Ae uh

i+1

Fe
i+1 = Fh

i+1 + Fp
i+1

$�����#������ ν̇i+1 = 0% �� νi+1 = 0 ��� |Ff
i+1| < Ff0

ν̇i+1 = M−1 [P i+1 −C νi+1 −Kui+1 −BF i+1] ����#����
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������ �� 	 ��
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��	����

 δu �	
�����
 ����	
�����
�! ��� "�� ���#�	�! 	
� 
��
 �

� �	
�� ���� 
�� 
���

�	
 � (0, t)$∫ t

0

u̇TM ü dτ +

∫ t

0

u̇TC u̇ dτ +

∫ t

0

u̇TKu dτ +

∫ t

0

u̇TBF dτ =

∫ t

0

u̇TP dτ ���%%�

"�� ��%% �	
 �� ��&��

�
 	�$

EK(t) + EV D(t) + ES
S (t)− ES

S (0) +Wb(t) = EP (t) ���%�	�

where EK(t) =

∫ t

0

u̇TM ü dτ =
1

2
u̇(t)TM u̇(t) ���%���

EV D(t) =

∫ t

0

u̇TC u̇ dτ ���%���

ES(t)− ES(0) =

∫ t

0

u̇TKu dτ =
1

2
u(t)TKu(t)− 1

2
u(0)TKu(0) ���%���

Wb(t) =

∫ t

0

u̇TBF dτ ���%���

EP (t) =

∫ t

0

u̇TP dτ ���%���

EK(t) �� 
�� ��
�
�� �
�� �! ES
S (t)
�� �
�	�
 �
�� � �
���� �
 
�� ��
�	� ������
���
���

	
� EV D(t) 
�� �
�� � ������	
�� �� ��
�	� ������� �	���
 ����
 ��
��
� EP (t) �� 
��

�
�� � �
��
 
� 
�� ���
�� �� 
�� �
��
 ��
��
� ��� 
��� Wb(t) �������

� 
�� &��� ��


�� 
�
���
�	� ������ ��������� �
 
�� ����	
��
 ���
�� 	
� �� ���
��� ��������� �	��
 ���
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	�� ������
�
�
�� ��� �����
�	�
�� ��	��
��� ���� ���� ��� �����

Wb(t) =
∫ t

0
[Feνe + Feνp + Ffνf ]dτ

Wb(t) =
∫ t

0
(Feνe + Fhνh) dτ +

∫ t

0
Fpνpdτ +

∫ t

0
Ffνfdτ

Wb(t) =
∫ t

0

(
FeAeḞe + FhAhḞh

)
dτ +

∫ t

0
Fpνpdτ +

∫ t

0
Ffνfdτ

Wb(t) =
1
2
Ae Fe(t)

2 + 1
2
Ah Fh(t)

2 − 1
2
Ae Fe(0)

2 − 1
2
Ah Fh(0)

2 +
∫ t

0
Fpνpdτ +

∫ t

0
Ffνfdτ

����� 

!�� ���� ��� �� 
�"

���� �� �����"
�#�

Wb(t) = ERB
S (t)− ERB

S (0) + ERB
D (t) + ESB

D (t) ������ 

where ERB
S (t) =

1

2

Fe(t)
2

ke
+

Fh(t)
2

kh
������ 

ERB
D (t) =

∫ t

0

Fp(τ)νp(τ)dτ , E
SB
D (t) =

∫ t

0

Ff (τ)νf (τ)dτ ������ 

$� ��� �%�
���
�� ���� ��
 ��� "�
& �� ��� 
��
��
�# ��
��� �� ��� 
�����
�� ������ Wb(t) "�


���#�
'� ��� ��
�
� ���
#� ERB
S (t)� "�
�� 
� ��� ���
#� ���
�� 
� ��� �����
� ��

�#� k0, kh

	��� 
� ��� ������
��� 
��
�������
�� �� ��� ��������

� ���

�#� ��� ��� ���
#� �
��
�����

�� ��� 
	���
 ��� ��
�
�# ���

�#�� ERB
D (t) ��� ESB

D (t) 
������
�����

(	���

'
�#� ��� ���
#� ��	
�
�

	� ��
 ��� ��
	��	
�� ������ ����
��
�� ��
�
� ��������

EK(t) + EV D(t) + ES(t) + ERB
D (t) + ESB

D (t) = EI(t) ����)� 

where ES(t) = ES
S (t) + ERB

S (t), EI(t) = EP (t) + ES(0) ����)� 

*�� ��	
�
�

	� ��	��
�� ���) ���"� ��" ��� &
���
� ��� ���
� ���
#� ���
�� 
� ���

�
���
 �	��
��
	��	
� ��� ��� �����
� ��

�#� �� ��� �
+�
���
 ,-$(� EK(t), ES(t)� ��#����


"
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��
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�# ��� ���+�
���
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	���
 ���

�

��
�� ���

�#�� EV D(t), E
RB
D (t), ESB

D (t)� �������� ��� ���
#� 
��	� �� ��� ������ EI(t)�
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������ �	 
�����	 ���� �
 
������ ��� ��� ����

����
���	 ��
��	
� 
����
���	 �� ��� �
��
��� ����
�
 ������	� �	��� ��
� � (u0 = 10.1cm)�

����� ����	 �
���
	
��

��� �	��� ���������
 ��� ��� ���������������������� ����� 
�� ��� �	�
 ���
�	�� ���� ���

�	������
� ���	�� �
���	
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�������� �	��� ��
� �� 
�� �
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�����
 �� ��� 
����
�������� 
�� ��	
������� �' 
������
����	

�� ��� �����
��	��	� ���
� �
�����
 C̃, K̃� 
�� ()
 ��%*� C̃, K̃ 
�� ��
��	
� �
�����
 +���

�	����
 C̃nn = 2ζnωnMn� K̃nn = ω2
nMn� +���� Mn �
 ��� ���
� �


�

Css =
(
ΦT
)−1

C̃Φ−1 = Mss

(
3∑

n=1

2ζnωn

Mn

φn φn
T

)
Mss ,��%*
-

Kss =
(
ΦT
)−1

K̃Φ−1 = Mss

(
3∑

n=1

ω2
n

Mn

φn φn
T

)
Mss ,��%*�-

��� 
����
�������� �


 ����	 �	 �
��� ��% �
 10% ���
��� ��
	 ��� �	� ���
�	�� �' ���

���	�� �
���	 �� ��� 
����
�������� ��� ��
� � ,ms = 1602.5tons 
�
�	
� ms = 1456.8tons-�

��� 	��� ��� �
����
���	 �� ��� 
����
�������� �


 ������
 ���� ��� �����+�	� �
��� .�� 
	'

��
����� ��
� 	����� λ� ��� 
'
��� ,λMss, λKss- �

 ��� 

�� ���)��	���
 
	� ����
 ��

����
���	 �� ��� 
'
��� ,Mss,Kss- � 
�� ()
 ��%�� !�+����� ��� �	� λ ��� 
����
�������� 
'
�

��� +��� ��
� �� ��� ��
����� ��
��	
� +��	 �����	�� +��� ��� �
��
���	 
'
��� (mb, k0, k1)


	� �	��� �	 ��� ���������������������� �
��
��� ������	� ������ .�����
 ��� 
��+ ��� ����

�
��
�	 �� ��� ��
����� 
	� 
����
��� ��
��	
�� �	 ����
 �� ��� ���
���� ���� �������' ,���
����

+��� ��
���� �� ��� �

�-� ������ 
	� 
���� �
����
���	 �� ��� 
����
�������� �


 ms� �




���

����� 	
�� 
���� ����� ���������� ��� ��� �������� ���������� �� ��� ������� �������� �����
���� �
 ��� ����� ��������� ������ ���������� ��� ��� ����� ���� m� ��� ��������� ����� ���
�������� ��� ��� ���� ����� !"#$� k0, k1, Q ��� ��� ���%���� %��&%���� ��� ��� ���%���� �������
μ
 ��� �������� ���%� Fp ��� ��� ���%���� ���%�� Ff0 ��� ��� ������ ��������� ��� ���� ��� ����
'�����  ����� ��� �� �� ��� Ff0 ���%� ����� ��� ����� ����� �� �������� �������� ��� ������%���
��� ���� μ� ��� �(������%��� ��)����� �(��� �����*
 ��� ����� ���������%���� ������ �����
������ ��� ��� ���������%���� ���� �����( Mss� ��� ����� ���+���%��� fn� ������� ������ ζn
��� ����� φn


��������� ����	
 ����	���	�

m (tons) k0 (kN/m) k1 (kN/m) Q (kN) μ(%) Fy(kN) Ff0(kN)


��� 
��� ��� ���
 ���� ����� ���������
����
��

���	���������	 ����	���	�

Mss(tons) [f1, f2, f3](Hz) [ζ1, ζ2, ζ3](%) �φ1,φ2,φ3�

1602.5

⎛
⎜⎜⎜⎜⎜⎜⎝

0.46 0 0

0 0.37 0

0 0 0.17

⎞
⎟⎟⎟⎟⎟⎟⎠

������
�������� ����
������
����

⎛
⎜⎜⎜⎜⎜⎜⎝

0.452 −0.713 0.638

0.812 −0.090 −1.026

1.0 1.0 1.0

⎞
⎟⎟⎟⎟⎟⎟⎠

���� �� ��� ,��� ��������� ��� ����%��������� ����� ��� ��)����� ���+���%� %����%�������%�

���� ��� �%���� ������


λ
(
Kss −Ω2

sMss

)
Φ = 0 '	
���*

q̈n(t) + 2 ζn ωn q̇n(t) + ω2
n qn(t) = −Γn üb(t),us(t) =

3∑
n=1

φn qn(t) '	
���*
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��� ����� ������� ��� ���%���� �������� ��� ����� 
� �!� ����� 
 �!� ������&��

��
������� 
 �!� ��
����
� ������ ��� �!� ��������������� ��� '(� 	
	)


M =

⎡
⎢⎢⎢⎢⎢⎢⎣

797.5 0 0 0

0 733.3 0 0

0 0 589.5 0

0 0 0 279.6

⎤
⎥⎥⎥⎥⎥⎥⎦
(tons),

C =

⎡
⎢⎢⎢⎢⎢⎢⎣

4.25 −3.84 −0.92 0.50

−3.84 6.19 −0.83 −1.52

−0.92 −0.83 2.69 −0.94

0.50 −1.52 −0.94 1.96

⎤
⎥⎥⎥⎥⎥⎥⎦
(∗103kNsec/m),

K =

⎡
⎢⎢⎢⎢⎢⎢⎣

2.10 −2.69 0.54 0.05

−2.69 5.63 −3.27 0.33

0.54 −3.27 4.96 −2.23

0.05 0.35 −2.23 1.85

⎤
⎥⎥⎥⎥⎥⎥⎦
(∗106kN/m)

�	
	)�
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����# �
�� ��� �
�������% �� ��� 
�!


������� ��%���� ��
 ����� �� �� �� &� �� ' ��� � 
 ��� 
������ ��
 ���� ( ��� �� ����� �� ���

���� ��)� ��� �
� ��� 
������� ��
���
 ��� �������� 
������� �
������� �� ��� �����

��������� �������� �������� �������� ���
 ������
������� ���������� ��� �������������


��� 
������� 
������� �������� �� 
������� ���
 ������
������� ����������� �������������

��� ����
*���
# �
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�

��� ������ 	
������ 
 ������

����� ��	
 ��
����� �� ��
��� ������ ��
 ����� 	� � ��� �� ��
�� ������
 ���
� ���� ��
�������� ������ tabs1 � ������ ������
 ��� ���� �� �������� ������ tabs2 � ���
� ������

��
����� �� �������� ������ tabsd = tabs2 − tabs1 � ���
�� ������
 ���
� ���� �� �������� ������
trel1 � ����� ������
 ��� ���� �� �������� ������ trel2 � ����� ������
 ��
����� �� 
�������
������ treld = trel2 − trel1 � ����� �
��!��� ��� 
������� ������ ��
����� �� ��������� �
�� ���
�������� ������ ���
� ��� ��� ������ ���� treld = tabs2 − tabs,groundfloor1 "�

Test 1 (u0 = 5.83cm) tabs1 [sec] tabs2 [sec] tabsd [sec] trel1 [sec] trel2 [sec] treld [sec]
�
���� #��
 
���
� �	$�%&$ �	&�'(% '�'%$
)
�� #��
 
���
� �	$�%(	 �	&�'*% '�'%* �	$�%&$ �	&�'%% '�	'$ � '�'	$"
������ #��
 
���
� �	$�%** �	&��%% '�'%	 �	$�%&$ �	&�'	% '�	�$ � '�''$"

��� 
���
� �	$�	%� �	&��	% '�'%& �	$�%&$ �	&�''% '�	�$ � '�'�$"

Test 3 (u0 = 6.81cm) tabs1 [sec] tabs2 [sec] tabsd [sec] trel1 [sec] trel2 [sec] treld [sec]
�
���� #��
 
���
� �&%�	�� �&��%%% '�(+&
)
�� #��
 
���
� �&%�	�( �&��%	% '�(&' �&%�	�� �&��%+% '�*'& � '�(&&"
������ #��
 
���
� �&%�	�$ �&��%'% '�(&$ �&%�	�� �&��%+% '�*'& � '�((&"

��� 
���
� �&%�	+� �&��%$% '�((+ �&%�	�� �&��%&% '�*�& � '�*	&"

Test 4 (u0 = 6.83cm) tabs1 [sec] tabs2 [sec] tabsd [sec] trel1 [sec] trel2 [sec] treld [sec]
�
���� #��
 
���
� �+��+'% �++�$%% '�((%
)
�� #��
 
���
� �+��+'� �++�$�% '�*%+ �+��+'% �++�$+% '�*�% � '�*	%"
������ #��
 
���
� �+��+�' �++�$+% '�*'( �+��+'% �++�$*% '�*&% � '�*�%"

��� 
���
� �+��+$	 �++�$(% '�*'* �+��+'% �++�+%% '�*(% � '�*+%"
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����� ��	
 ��
����� �� ��
��� ������ ��
 ����� �� � ��� �� ��
�� ������
 ���
� ���� ��
�������� ������ tabs1 � ������ ������
 ��� ���� �� �������� ������ tabs2 � ���
� ������

��
����� �� �������� ������ tabsd = tabs2 − tabs1 � ���
�� ������
 ���
� ���� �� �������� ������
trel1 � ����� ������
 ��� ���� �� �������� ������ trel2 � ����� ������
 ��
����� �� 
����� �
������ treld = trel2 − trel1 !"����� �
��#��� ��� 
����� � ������ ��
����� �� � ������� �
�� ���
�������� ������ ���
� ��� ��� ������ ���� treld = tabs2 − tabs,groundfloor1 $�

Test 5 (u0 = 10.88cm) tabs1 [sec] tabs2 [sec] tabsd [sec] trel1 [sec] trel2 [sec] treld [sec]
�
���� %��
 
���
� &'�(�))	 &'(&�		' *�		�
+
�� %��
 
���
� &'�(�))( &'(&�		� *�	*& &'�(�))	 &'(&�)�� *�)�* ! *�	*�$
������ %��
 
���
� &'���''� &'(&�	** *�		) &'�(�))	 &'(&�)�� *�)�� ! *�	�&$

��� 
���
� &'���'	� &'(&�	*� *�	&' &'�(�))	 &'(&�)�( *�)�� ! *�	�	$

Test 6 (u0 = 11.66cm) tabs1 [sec] tabs2 [sec] tabsd [sec] trel1 [sec] trel2 [sec] treld [sec]
�
���� %��
 
���
� &	&��*(( &	&)��'' ��'	*
+
�� %��
 
���
� &	&��*�* &	&)��*' ��'�( &	&��*(( &	&)��*' ��'�* ! ��'�*$
������ %��
 
���
� &	&��*�) &	&)���' ��'�& &	&��*(( &	&)���' ��'�* ! ��'�*$

��� 
���
� &	&���') &	&)���' ��'�& &	&��*(( &	&)���' ��'�* ! ��'�*$

Test 8 (u0 = 10.33cm) tabs1 [sec] tabs2 [sec] tabsd [sec] trel1 [sec] trel2 [sec] treld [sec]
�
���� %��
 
���
� *���&�� *�)�	'' ��'*�
+
�� %��
 
���
� *���&(& *�)�	�' ��'�) *���&�� *�)�		' ��'�� ! ��'(�$
������ %��
 
���
� *���&(( *�)�	�' ��'(* *���&�� *�)�	�' ��'(� ! ��'��$

��� 
���
� *���	'' *�)�	�' ��'�' *���&�� *�)�*	' ��&�� ! ��')�$
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��� ������ ��
 ����� � ��� ��� ��
�� ������
 ���
� ���� ��
�������� ������ tabs1 � ������ ������
 ��� ���� �� �������� ������ tabs2 � ���
� ������

��
����� �� �������� ������ tabsd = tabs2 − tabs1 � ���
�� ������
 ���
� ���� �� �������� ������
trel1 � ����� ������
 ��� ���� �� �������� ������ trel2 � ����� ������
 ��
����� �� 
�������
������ treld = trel2 − trel1  !����� �
��"��� ��� 
������� ������ ��
����� �� ��������� �
�� ���
�������� ������ ���
� ��� ��� �����# ���� treld = tabs2 − tabs,groundfloor1 $�

Test 9 (u0 = 10.11cm) tabs1 [sec] tabs2 [sec] tabsd [sec] trel1 [sec] trel2 [sec] treld [sec]
�
���� %��
 
���
� ���&��'( ���'���� 	���	
)
�� %��
 
���
� ���&���* ���'��&� 	���( ���&��'( ���'���� &��+	  	��+*$
������ %��
 
���
� ���&���� ���'��(� &��+� ���&��'( ���'��(� &��'	  &��'	$

��� 
���
� ���&��** ���'�**� &���' ���&��'( ���'�*�� &��*	  &��		$

Test 10 (u0 = 10.02cm) tabs1 [sec] tabs2 [sec] tabsd [sec] trel1 [sec] trel2 [sec] treld [sec]
�
���� %��
 
���
� ���*�'&� ���+�'�� 	��+�
)
�� %��
 
���
� ���*�'�� ���+�'*� 	��+� ���*�'&� ���+��*� &��(�  	��(�$
������ %��
 
���
� ���*�'+* ���+�'&� 	��(' ���*�'�� ���+��*� &��(�  	����$

��� 
���
� ���*�'(' ���+��*� &��&* ���*�'&� ���+��&� &����  &��(�$

����� ��&
 ,���
���� �� ���� !��
� ���
� �� � ����
 �����
 �
��� �� ��� 
�! �������� ���-�


������� �������. �
���� � ��
����� ���� �� �
�!� �� ���� ����
��� ��� �������� ����� ���� t1�

���� �� [420, 430]sec ���� �� [1225, 1235]sec
���� �� [480, 490]sec ���� 	� [395, 405]sec
���� 
� [470, 480]sec ���� �� [1020, 1030]sec
���� �� [1075, 1085]sec ���� �
� [1060, 1070]sec
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����� ��	
 ����
����
 ε1 ��� εv �
�� ��� ��� ������������� �� 
���� ��� ����
 ����
 �� 
�����
��
����� ��� �������� ������ �
���
�����
 ′abs′ ��� ′rel′ ��
�����������

���� � � ������	
�� �
 % ���� � � ������	
�� �
 % ���� � � ������	
�� �
 %
floor εabs1 εabsv εrel1 εrelv εabs1 εabsv εrel1 εrelv εabs1 εabsv εrel1 εrelv

������ ���� �� � ���� ��!� "��� ����
#�
� ���� ���� ���� ���� $��� ��!� $��� ���� "��� ���� "��� ��%�

����� ���� ���� ���� �� � $��� ��!� $��� ���� ����� ���� "��� ��%�
���� ���� ���� ���� ���� $��� ��!� $��� ��%� ����� ���� "��� ��%�

���� � � ������	
�� �
 % ���� � � ������	
�� �
 % ���� � � ������	
�� �
 %
floor εabs1 εabsv εrel1 εrelv εabs1 εabsv εrel1 εrelv εabs1 εabsv εrel1 εrelv

������ "��� ���� "��� ��"$ "��� ��"�
#�
� "��� ���� "��� ��"$ "��� ��"	 "��� ���� "��� ��!� "��� ��%�

����� "��� ���� "��� ���� "��� ��"� "��� ���� "��� ��%	 "��� ��$�
���� 	��� ���� "��� ��"$ 	��� ��"� "��� ���� $��� ���	 "��� ��"�

���� � � ������	
�� �
 % ���� �� � ������	
�� �
 %
floor εabs1 εabsv εrel1 εrelv εabs1 εabsv εrel1 εrelv

������ ���� ���� "��� ��	�
#�
� "��� ���� "��� ���� "��� ��&� "��� ��$�

����� ����� ��"� "��� ��"� "��� ���	 "��� ��&�
���� �"��� ��"� "��� ��"� "��� ��	� "��� ��"	
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� ���� �����
�
� ��	�
�	� � 
����	

����� ��	
 ���� 
��� ��������� �������� �
 ��� ������� �������� �� ����� �
 �������� ����

������������� �������� ��� ������������ ������ ����� ��  � !� " ��� #�

���� � � ���	 �
���
�� �������� ���� � � ���	 �
���
�� ��������

accel.[g] vel.[cm/sec] displ.[cm] accel.[g] vel.[cm/sec] displ.[cm]
������ ���� $��%	 &�"! "�# $� %$ �%�!% 	�#�

'��� ���� $���# &�! "�# $�% � �%�%" 	�#�

������ ���� $��$	 &�		 "�# $��	� �%�#� 	�#�

���
 $��$$ &�"	 "�# $�%�& � �$! 	�#%

���� � � ���	 �
���
�� �������� ���� � � ���	 �
���
�� ��������

accel.[g] vel.[cm/sec] displ.[cm] accel.[g] vel.[cm/sec] displ.[cm]
������ ���� $� %& ���!� 	�#" $�!�& ���%& �$�##

'��� ���� $��&" ���%� 	�#" $�%	# �	�#� �$�##

������ ���� $��"# ���#" 	�#" $��&& ���	& �$�##

���
 $�%�! ���&� 	�#" $�%#	 �#�%" �$�##

���� � � ���	 �
���
�� �������� ���� � � ���	 �
���
�� ��������

accel.[g] vel.[cm/sec] displ.[cm] accel.[g] vel.[cm/sec] displ.[cm]
������ ���� $�!%" �#�� ���		 $�!�& ���"� �$�  

'��� ���� $�%	� ���		 ���		 $�%�& ���%	 �$�  

������ ���� $�%�# �#�!% ���		 $�%$" �#��$ �$�  

���
 $�%&" �&�$	 ���		 $�%&� �#�	# �$� !

����� ���
 ���� 
��� ��������� �������� �
 ��� ������� �������� �� ����� �
 �������� ����

������������� �������� ��� ������������ ������ ����� & ��� �$�

���� � � ���	 �
���
�� �������� ���� �� � ���	 �
���
�� ��������

accel.[g] vel.[cm/sec] displ.[cm] accel.[g] vel.[cm/sec] displ.[cm]
������ ���� $� �! �"��$ �$��� $� 	 �"�!� �$�$%

'��� ���� $�%"% �"�! �$��� $�%"� �"�%" �$�$%

������ ���� $���� �	��% �$��� $���! �	�$" �$�$%

���
 $�%	" �	�" �$��� $�%	� �	� $ �$�$ 
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�� �������� �

�� �� 
�� ��! ����
��� ��
���� ��� ������������ 
���� �������� ������
�� ���� 
�� �

�� ������
� �������� ��  ���� !�
��� ������
�� "���

������	 ��������
 ����������� #����� ������	 ���� ����
��� $��� ��������
����� �����
������	 ���� ����
��� $��� ������
���� "���
� ������	 ���� ����
��� $��� �����������
��
"��
� ������	 ���� ����
��� $��� �����������
� ��
�� �������
��� �� � ��! ��
 ��
�� !�
�
fc = 0.25Hz %
��
�& ��� fc = 0.30Hz %
��
� � ��� �&� #�'
� ������	 ���� ��
��(�
��� ����
��
#����
� ������	 ���� ��
��(�
��� ����
� ������
�� ���� ��
���� �����������
��

���� � � ���	 
�����
� �� ��� ���� 
�������

floor acceleration velocity displacement filtered displ. drift filtered drift
[g] [cm/sec] [cm] [cm] [10−3] [10−3]
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floor acceleration velocity displacement filtered displ. drift filtered drift
[g] [cm/sec] [cm] [cm] [10−3] [10−3]
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floor acceleration velocity displacement filtered displ. drift filtered drift
[g] [cm/sec] [cm] [cm] [10−3] [10−3]
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������	 ��������
 ����������� #����� ������	 ���� ����
��� $��� ��������
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��� $��� ������
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��� $��� �����������
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��� $��� �����������
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�� �������
��� �� � ��! ��
 ��
�� !�
�

fc = 0.30Hz� #�%
� ������	 ���� ��
��&�
��� ����
�� #����
� ������	 ���� ��
��&�
��� ����
�
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�� ���� ��
���� �����������
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floor acceleration velocity displacement filtered displ. drift filtered drift
[g] [cm/sec] [cm] [cm] [10−3] [10−3]
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floor acceleration velocity displacement filtered displ. drift filtered drift
[g] [cm/sec] [cm] [cm] [10−3] [10−3]
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 Test 6 absolute accelerations
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 Test 6 relative velocities
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 Test 6 baseline fitted displacements
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